


书书书

大学英语综合测试教程

　　　　主　审：朱甫道

　　　　主　编：马　郁

　　　　副主编：蔡　俊　马海燕

　　　　编　者：王剑虹　叶清华

李传芝　戴容 （按姓氏笔画）

北 京 邮 电 大 学 出 版 社
·北 京·



内 容 简 介

本书包括１０套试题、答案详解和听力光盘。试题是根据２０１３年１２月最新大学英语四级

改革的题型编写，答案详解对每套题的做题思路都做了详细的分析，供教师指导考生备考或考

生自学。
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前　　言

本书是根据２００７年教育部颁布的《大学英语课程教学要求（试行）》的要求和２０１３年１２月开

始执行的大学英语四六级考试新题型编写的。新题型的推出势必将对我国大学英语教学改革和

实践产生重要的影响，也不可避免地给参加考试的考生带来一些困惑。为了帮助考生顺利完成这

个转变，成功地通过考试，我们组织了具有丰富教学经验的教师，认真研究新题型出题思想和各项

试题数据，从以往的四级真题和国内外经典的出版物中广泛收集资料，精心编写了本教材。

全书包括十套试题、试题答案解析并附赠听力光盘。每一套试题都经过“出题、审读、修改、再

审读、再修改”等多道程序，使之尽可能地贴近乃至符合大学英语考试委员会的出题思想和要求。

试题的选编内容全面，答案解析详尽，对各种题型的要点进行了分析和总结，并提供了实用的应试

技巧和做题思路，便于考生独立研修。

本书主编马郁主要负责体例编制、书稿修订等工作。副主编蔡俊负责材料整理和第一、第二

套试题与解析的编写工作；叶清华编写第三、第四套试题与解析；王剑虹编写第五、第六套试题与

解析；戴容编写第七、第八套试题与解析；李传芝编写第九、第十套试题与解析；全书由朱甫道教授

审定。在此，为本书付出辛勤劳动的同志表示感谢。

本书在编写过程中参阅了大量参考书、词典等相关资料，在此向这些作者表示感谢。

由于编者水平有限，书中恐有缺陷和不妥之处，恳请使用该书的教师、学生和广大读者批评指

正，以便使其日臻完善。

编　者　
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ＣＥＴ－４新题型试卷（一）

ＰａｒｔⅠ Ｗｒｉｔｉｎｇ（３０ｍｉｎｕｔｅｓ）

Ｄｉｒｅｃｔｉｏｎｓ：Ｆｏｒ　ｔｈｉｓ　ｐａｒｔ，ｙｏｕ　ａｒｅ　ａｌｌｏｗｅｄ３０　ｍｉｎｕｔｅｓ　ｔｏ　ｗｒｉｔｅ　ａ　ｓｈｏｒｔ　ｅｓｓａｙ．Ｙｏｕ　ｓｈｏｕｌｄ　ｓｔａｒｔ　ｙｏｕｒ
ｅｓｓａｙ　ｗｉｔｈ　ａ　ｂｒｉｅｆ　ｄｅｓｃｒｉｐｔｉｏｎ　ｏｆ　ｔｈｅ　ｐｉｃｔｕｒｅ　ａｎｄ　ｔｈｅｎ　ｅｘｐｒｅｓｓ　ｙｏｕｒ　ｖｉｅｗｓ　ｏｎ　ｔｈｅ　ｉｍｐｏｒｔａｎｃｅ　ｏｆ　ｄｏｉｎｇ
ｓｍａｌｌ　ｔｈｉｎｇｓ　ｂｅｆｏｒｅ　ｕｎｄｅｒｔａｋｉｎｇ　ｓｏｍｅｔｈｉｎｇ　ｂｉｇ．Ｙｏｕ　ｓｈｏｕｌｄ　ｗｒｉｔｅ　ａｔ　ｌｅａｓｔ　１２０　ｗｏｒｄｓ　ｂｕｔ　ｎｏ　ｍｏｒｅ　ｔｈａｎ
１８０　ｗｏｒｄｓ．Ｗｒｉｔｅ　ｙｏｕｒ　ａｎｓｗｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　１　．

ＰａｒｔⅡ Ｒｅａｄｉｎｇ　Ｃｏｍｐｒｅｈｅｎｓｉｏｎ（Ｓｋｉｍｍｉｎｇ　ａｎｄ　Ｓｃａｎｎｉｎｇ）（１５ｍｉｎｕｔｅｓ）

Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ，ｙｏｕ　ａｒｅ　ｇｏｉｎｇ　ｔｏ　ｒｅａｄ　ａ　ｐａｓｓａｇｅ　ｗｉｔｈ　ｔｅｎ　ｓｔａｔｅｍｅｎｔｓ　ａｔｔａｃｈｅｄ　ｔｏ　ｉｔ．Ｅａｃｈ
ｓｔａｔｅｍｅｎｔ　ｃｏｎｔａｉｎｓ　ｉｎｆｏｒｍａｔｉｏｎ　ｇｉｖｅｎ　ｉｎ　ｏｎｅ　ｏｆ　ｔｈｅ　ｐａｒａｇｒａｐｈｓ．Ｉｄｅｎｔｉｆｙ　ｔｈｅ　ｐａｒａｇｒａｐｈ　ｆｒｏｍ　ｗｈｉｃｈ
ｔｈｅ　ｉｎｆｏｒｍａｔｉｏｎ　ｉｓ　ｄｅｒｉｖｅｄ．Ｙｏｕ　ｍａｙ　ｃｈｏｏｓｅ　ａ　ｐａｒａｇｒａｐｈ　ｍｏｒｅ　ｔｈａｎ　ｏｎｃｅ．Ｅａｃｈ　ｐａｒａｇｒａｐｈ　ｉｓ　ｍａｒｋｅｄ
ｗｉｔｈ　ａ　ｌｅｔｔｅｒ．Ａｎｓｗｅｒ　ｔｈｅ　ｑｕｅｓｔｉｏｎｓ　ｂｙ　ｍａｒｋｉｎｇ　ｔｈｅ　ｃｏｒｒｅｓｐｏｎｄｉｎｇ　ｌｅｔｔｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　２．

Ｃａｎ　Ｄｉｇｉｔａｌ　Ｔｅｘｔｂｏｏｋｓ　Ｔｒｕｌｙ　Ｒｅｐｌａｃｅ　ｔｈｅ　Ｐｒｉｎｔ　Ｋｉｎｄ？

Ａ）Ｔｈｅ　ｓｈｏｒｔｃｏｍｉｎｇｓ　ｏｆ　ｔｒａｄｉｔｉｏｎａｌ　ｐｒｉｎｔ　ｅｄｉｔｉｏｎ　ｔｅｘｔｂｏｏｋｓ　ａｒｅ　ｏｂｖｉｏｕｓ：Ｆｏｒ　ｓｔａｒｔｅｒｓ　ｔｈｅｙｒｅ　ｈｅａｖｙ，
ｗｉｔｈ　ｔｈｅ　ａｖｅｒａｇｅ　ｐｈｙｓｉｃｓ　ｔｅｘｔｂｏｏｋ　ｗｅｉｇｈｉｎｇ　３．６ｐｏｕｎｄｓ．Ｔｈｅｙｒｅ　ａｌｓｏ　ｅｘｐｅｎｓｉｖｅ，ｅｓｐｅｃｉａｌｌｙ　ｗｈｅｎ
ｙｏｕ　ｆａｃｔｏｒ　ｉｎ　ｔｈｅ　ａｖｅｒａｇｅ　ｃｏｌｌｅｇｅ　ｓｔｕｄｅｎｔｓ　ｌｉｍｉｔｅｄ　ｂｕｄｇｅｔ，ｔｙｐｉｃａｌｌｙ　ｃｏｓｔｉｎｇ　ｈｕｎｄｒｅｄｓ　ｏｆ　ｄｏｌｌａｒｓ
ｅｖｅｒｙ　ｓｅｍｅｓｔｅｒ．Ｂｕｔ　ｔｈｅ　ｗｏｒｓｔ　ｐａｒｔ　ｉｓ　ｔｈａｔ　ｐｒｉｎｔ　ｖｅｒｓｉｏｎ　ｏｆ　ｔｅｘｔｂｏｏｋｓ　ａｒｅ　ｃｏｎｓｔａｎｔｌｙ　ｕｎｄｅｒｇｏｉｎｇ
ｒｅｖｉｓｉｏｎｓ．Ｍａｎｙ　ｐｒｏｆｅｓｓｏｒｓ　ｒｅｑｕｉｒｅ　ｔｈａｔ　ｔｈｅｉｒ　ｓｔｕｄｅｎｔｓ　ｕｓｅ　ｏｎｌｙ　ｔｈｅ　ｌａｔｅｓｔ　ｖｅｒｓｉｏｎｓ　ｉｎ　ｔｈｅ　ｃｌａｓｓ－
ｒｏｏｍ，ｅｓｓｅｎｔｉａｌｌｙ　ｒｅｎｄｅｒｉｎｇ　ｏｌｄｅｒ　ｔｅｘｔｓ　ｕｎｕｓａｂｌｅ．Ｆｏｒ　ｓｔｕｄｅｎｔｓ，ｉｔ　ｍｅａｎｓ　ｔｈｅｙｒｅ　ｂａｓｉｃａｌｌｙ　ｓｔｕｃｋ
ｗｉｔｈ　ａ　ｆｏｕｒ　ｐｏｕｎｄ　ｐａｐｅｒ－ｗｅｉｇｈｔ　ｔｈａｔ　ｔｈｅｙ　ｃａｎｔ　ｓｅｌｌ　ｂａｃｋ．

Ｂ）Ｗｈｉｃｈ　ｉｓ　ｗｈｙ　ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋｓ，ｉｆ　ｔｈｅｙ　ｌｉｖｅ　ｕｐ　ｔｏ　ｔｈｅｉｒ　ｐｒｏｍｉｓｅ，ｃｏｕｌｄ　ｈｅｌｐ　ｅａｓｅ　ｍａｎｙ　ｏｆ　ｔｈｅｓｅ
ｓｈｏｒｔｃｏｍｉｎｇｓ．Ｂｕｔ　ｔｉｌｌ　ｎｏｗ，ｔｈｅｙｖｅ　ｂｅｅｎ　ｓｏｍｅｔｈｉｎｇ　ｌｉｋｅ　ａ　ｍｉｒａｇｅ（幻影）ｉｎ　ｔｈｅ　ｄｉｓｔａｎｃｅ，ｍｏｒｅ
ｌｉｋｅ　ａ　ｈａｚｙ（模糊的）ｄｒｅａｍ　ｔｈａｎ　ａｎ　ａｃｔｕａｌ　ｒｅａｌｉｔｙ．Ｉｍａｇｉｎｅ　ｔｈｅ　ｐｒｏｍｉｓｅ：Ｃａｒｒｙｉｎｇ　ａｌｌ　ｙｏｕｒ　ｔｅｘｔ－
ｂｏｏｋｓ　ｉｎ　ａ　１．３ｐｏｕｎｄ　ｉＰａｄ？Ｉｔ　ｓｏｕｎｄｓ　ａｌｍｏｓｔ　ｔｏｏ　ｇｏｏｄ　ｔｏ　ｂｅ　ｔｒｕｅ．Ｂｕｔ　ｔｈｅｒｅ　ａｒｅ　ａ　ｆｅｗ　ｐｉｌｏｔ　ｓｃｈｏｏｌｓ
ａｌｒｅａｄｙ　ｍａｋｉｎｇ　ｔｈｅ　ｔｒａｎｓｉｔｉｏｎ（过渡）ｏｖｅｒ　ｔｏ　ｄｉｇｉｔａｌ　ｂｏｏｋｓ．Ｕｎｉｖｅｒｓｉｔｉｅｓ　ｌｉｋｅ　Ｃｏｒｎｅｌｌ　ａｎｄ　Ｂｒｏｗｎ
ｈａｖｅ　ｊｕｍｐｅｄ　ｏｎｂｏａｒｄ．Ａｎｄ　ｏｎｅ　ｍｅｄｉｃａｌ　ｐｒｏｇｒａｍ　ａｔ　ｔｈｅ　Ｕｎｉｖｅｒｓｉｔｙ　ｏｆ　Ｃａｌｉｆｏｒｎｉａ，Ｉｒｖｉｎｅ，ｇａｖｅ
ｔｈｅｉｒ　ｅｎｔｉｒｅ　ｃｌａｓｓ　ｉＰａｄｓ　ｗｉｔｈ　ｗｈｉｃｈ　ｔｏ　ｄｏｗｎｌｏａｄ　ｔｅｘｔｂｏｏｋｓ　ｊｕｓｔ　ｌａｓｔ　ｙｅａｒ．

Ｃ）Ｂｕｔ　ｎｏｔ　ａｌｌ　ｗｅｒｅ　ｅａｇｅｒ　ｔｏ　ｊｕｍｐ　ａｂｏａｒｄ．“Ｐｅｏｐｌｅ　ｗｅｒｅ　ｔｉｒｅｄ　ｏｆ　ｕｓｉｎｇ　ｔｈｅ　ｉＰａｄ　ｔｅｘｔｂｏｏｋ　ｂｅｓｉｄｅｓ　ｕ－
ｓｉｎｇ　ｉｔ　ｆｏｒ　ｒｅａｄｉｎｇ，”ｓａｙｓ　Ｋａｌｐｉｔ　Ｓｈａｈ，ｗｈｏ　ｗｉｌｌ　ｂｅ　ｇｏｉｎｇ　ｉｎｔｏ　ｈｉｓ　ｓｅｃｏｎｄ　ｙｅａｒ　ａｔ　Ｉｒｖｉｎｅｓ　ｍｅｄｉｃａｌ
ｐｒｏｇｒａｍ　ｔｈｉｓ　ｆａｌｌ．“Ｔｈｅｙ　ｗｅｒｅｎｔ　ｕｓｉｎｇ　ｉｔ　ａｓ　ａ　ｓｏｕｒｃｅ　ｏｆ　ｃｏｍｍｕｎｉｃａｔｉｏｎ　ｂｅｃａｕｓｅ　ｔｈｅｙ　ｃｏｕｌｄｎｔ　ｒｅａｄ
ｏｒ　ｗｒｉｔｅ　ｉｎ　ｉｔ．Ｓｏ　ａ　ｔｈｉｒｄ　ｏｆ　ｔｈｅ　ｐｅｏｐｌｅ　ｉｎ　ｍｙ　ｐｒｏｇｒａｍ　ｗｅｒｅ　ｕｓｉｎｇ　ｔｈｅ　ｉＰａｄ　ｉｎ　ｃｌａｓｓ　ｔｏ　ｔａｋｅ　ｎｏｔｅｓ，
ｔｈｅ　ｏｔｈｅｒ　ｔｈｉｒｄ　ｗｅｒｅ　ｕｓｉｎｇ　ｌａｐｔｏｐｓ　ａｎｄ　ｔｈｅ　ｌａｓｔ　ｔｈｉｒｄ　ｗｅｒｅ　ｕｓｉｎｇ　ｐａｐｅｒ　ａｎｄ　ｐｅｎｃｉｌ．”Ｔｈｅ　ｒｅａｓｏｎ　ｉｔ
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ｈａｓｎｔ　ｃａｕｇｈｔ　ｏｎ　ｙｅｔ，ｈｅ　ｔｅｌｌｓ　ｍｅ，ｉｓ　ｔｈａｔ　ｔｈｅ　ｆｕｎｃｔｉｏｎａｌｉｔｙ　ｏｆ　ｅ－ｅｄｉｔｉｏｎ　ｔｅｘｔｂｏｏｋｓ　ｉｓ　ｉｎｃｒｅｄｉｂｌｙ
ｌｉｍｉｔｅｄ，ａｎｄ　ｓｏｍｅ　ｓｔｕｄｅｎｔｓ　ｊｕｓｔ　ａｒｅｎｔ　ｍｏｔｉｖａｔｅｄ　ｔｏ　ｌｅａｒｎ　ｎｅｗ　ｓｔｕｄｙ　ｂｅｈａｖｉｏｒ．

Ｄ）Ｂｕｔ　ａ　ｎｅｗ　ａｐｐｌｉｃａｔｉｏｎ　ｃａｌｌｅｄ　Ｉｎｋｌｉｎｇ　ｍｉｇｈｔ　ｃｈａｎｇｅ　ａｌｌ　ｔｈａｔ．Ｔｈｅ　ｃｏｍｐａｎｙ　ｊｕｓｔ　ｒｅｌｅａｓｅｄ　ａｎ　ｕｐｄａｔｅｄ
ｖｅｒｓｉｏｎ　ｌａｓｔ　ｗｅｅｋ，ａｎｄ　ｉｔｌｌ　ｂｅ　ｕｔｉｌｉｚｅｄ　ｉｎ　ｏｖｅｒ　５０ｕｎｄｅｒｇｒａｄｕａｔｅ　ａｎｄ　ｇｒａｄｕａｔｅ　ｃｌａｓｓｒｏｏｍｓ　ｔｈｉｓ
ｃｏｍｉｎｇ　ｓｃｈｏｏｌ　ｙｅａｒ．“Ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋｓ　ａｒｅ　ｎｏｔ　ｇｏｉｎｇ　ｔｏ　ｃａｔｃｈ　ｏｎ，”ｓａｙｓ　Ｉｎｋｌｉｎｇ　ＣＥＯ　Ｍａｔｔ　Ｍａ－
ｃｌｎｎｉｓ　ａｓ　ｈｅｓ　ｇｉｖｉｎｇ　ｍｅ　ａ　ｄｅｍｏ（演示）ｏｖｅｒ　ｃｏｆｆｅｅ．“Ｗｈａｔ　Ｉ　ｍｅａｎ　ｂｙ　ｔｈａｔ　ｉｓ　ｔｈｅ　ｃｕｒｒｅｎｔ　ｐｅｒｓｐｅｃ－
ｔｉｖｅ　ｏｆ　ｔｈｅ　ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋ　ｉｓ　ｉｔｓ　ａｎ　ｅｘａｃｔ　ｃｏｐｙ　ｏｆ　ｔｈｅ　ｐｒｉｎｔ　ｂｏｏｋ．Ｔｈｅｒｅｓ　Ｃｏｕｒｓｅ　Ｓｍａｒｔ，ｅｔｃ．，
ｔｈｅｓｅ　ｇｕｙｓ　ｗｈｏ　ｔａｋｅ　ａｎｙ　ｉｍａｇｅ　ｏｆ　ｔｈｅ　ｐａｇｅ　ａｎｄ　ｐｕｔ　ｉｔ　ｏｎ　ａ　ｓｃｒｅｅｎ．Ｉｆ　ｔｈａｔｓ　ｈｏｗ　ｗｅｒｅ　ｄｅｆｉｎｉｎｇ
ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋｓ，ｔｈｅｒｅｓ　ｎｏ　ｈｏｐｅ　ｏｆ　ｔｈａｔ　ｂｅｃｏｍｉｎｇ　ａ　ｍａｉｎｓｔｒｅａｍ　ｐｒｏｄｕｃｔ．”

Ｅ）Ｈｅ　ｃａｌｌｓ　Ｉｎｋｌｉｎｇ　ａｐｌａｔｆｏｒｍ　ｆｏｒ　ｐｕｂｌｉｓｈｅｒｓ　ｔｏ　ｂｕｉｌｄ　ｒｉｃｈ　ｍｕｌｔｉｍｅｄｉａ　ｃｏｎｔｅｎｔ　ｆｒｏｍ　ｔｈｅ　ｇｒｏｕｎｄ　ｕｐ，
ｗｉｔｈ　ａ　ｈｅａｖｙ　ｅｍｐｈａｓｉｓ　ｏｎ　ｒｅａｌ－ｗｏｒｌｄ　ｆｕｎｃｔｉｏｎａｌｉｔｙ．Ｔｈｅ　ｔｒａｄｉｔｉｏｎａｌ　ｔｅｘｔｂｏｏｋ　ｍｅｒｅｌｙ　ｓｅｒｖｅｓ　ａｓ　ａ
ｓｋｅｌｅｔｏｎ．Ａｔ　ｆｉｒｓｔ　ｇｌａｎｃｅ　Ｉｎｋｌｉｎｇ　ｉｓ　ａｎ　ｉｍｐｒｅｓｓｉｖｅ　ｅｘｐｅｒｉｅｎｃｅ．Ａｆｔｅｒ　ｓｗｉｐｉｎｇ（敲击）ｉｎｔｏ　ｔｈｅ　ｉＰａｄ
ａｐｐ（应用软件），ｗｈｉｃｈ　ｙｏｕ　ｃａｎ　ｇｅｔ　ｆｏｒ　ｆｒｅｅ　ｈｅｒｅ，ｈｅ　ｏｐｅｎｓ　ｕｐ　ａ　ｆｅｗ　ｄｉｆｆｅｒｅｎｔ　ｔｙｐｅｓ　ｏｆ　ｔｅｘｔ－
ｂｏｏｋｓ．Ｕｐ　ｆｉｒｓｔ　ｉｓ　ａ　ｃｈｅｍｉｓｔｒｙ　ｂｏｏｋ．Ｔｈｅ　ｂｏｏｔ　ｔｉｍｅ　ｉｓ　ｐｒｅｔｔｙ　ｆａｓｔ，ａｎｄ　ｈｅ　ｎａｖｉｇａｔｅｓ　ｔｈｒｏｕｇｈ （浏
览）ａ　ｆｅｗ　ｃｈａｐｔｅｒｓ　ｂｅｆｏｒｅ　ｓｗｉｐｉｎｇ　ｉｎｔｏ　ａ　ｆｕｌｌｙ　ｒｅｎｄｅｒｅｄ　３Ｄｍｏｌｅｃｕｌｅ　ｔｈａｔ　ｃａｎ　ｂｅ　ｓｐｕｎ　ａｒｏｕｎｄ　ｔｏ
ｖｉｅｗ　ｉｔｓ　ｖａｒｉｏｕｓ　ｂｕｉｌｄｉｎｇ　ｂｌｏｃｋｓ．“Ｐｕｂｌｉｓｈｅｒｓ　ｇｉｖｅ　ｕｓ　ａｌｌ　ｏｆ　ｔｈｅ　ｓｏｕｒｃｅ　ｍｅｄｉａ，ａｒｔｗｏｒｋ，ｖｉｄｅｏｓ，”
ｈｅ　ｓａｙｓ，“Ｗｅ　ｈｅｌｐ　ｔｈｅｍ　ｔｈｉｎｋ　ｔｈｒｏｕｇｈ　ｈｏｗ　ｔｏ　ａｃｔｕａｌｌｙ　ｂｕｉｌｄ　ｓｏｍｅｔｈｉｎｇ　ｆｏｒ　ｔｈｉｓ　ｐｌａｔｆｏｒｍ．”Ｎｅｘｔ
ｈｅ　ｐｕｌｌｓ　ｕｐ　ａ　ｍｕｓｉｃ　ｃｏｍｐｏｓｉｔｉｏｎ　ｔｅｘｔｂｏｏｋ，ｃｏｍｐｌｅｔｅ　ｗｉｔｈ　ｐｌａｙａｂｌｅ　ｄｅｍｏｓ．Ｉｔｓ　ａ　ｌｅａｒｎｉｎｇ　ｅｘｐｅｒｉ－
ｅｎｃｅ　ｔｈａｔ　ａｔｔａｃｋｓ　ｙｏｕ　ｆｒｏｍ　ｍｕｌｔｉｐｌｅ　ｓｅｎｓｏｒｙ　ｄｉｒｅｃｔｉｏｎｓ．Ｉｔｓ　ｃｌｅａｒ　ｗｈｙ　ｔｈｉｓ　ｗｏｕｌｄ　ｂｅ　ｓｏｍｅｔｈｉｎｇ　ａ
ｍｕｓｉｃ　ｍａｊｏｒ　ｗｏｕｌｄ　ｌｏｖｅ．

Ｆ）Ｂｕｔ　ｔｈｅ　ｍｏｓｔ　ｅｘｃｉｔｉｎｇ　ｐａｒｔ　ａｂｏｕｔ　Ｉｎｋｌｉｎｇ，ｔｏ　ｍｅ，ｉｓ　ｉｔｓ　ｎｏｔａｔｉｏｎ（批注）ｓｙｓｔｅｍ．Ｈｅｒｅｓ　ｈｏｗ　ｉｔ
ｗｏｒｋｓ！Ｗｈｅｎ　ｙｏｕ　ｐｕｒｃｈａｓｅ　ａ　ｕｓｅｄ　ｐｒｉｎｔ　ｂｏｏｋ，ｉｔ　ｃｏｍｅｓ　ｗｉｔｈ　ｉｔｓ　ｐｒｅｖｉｏｕｓ　ｏｗｎｅｒｓ　ｈｉｇｈｌｉｇｈｔｓ　ａｎｄ
ｎｏｔｅｓ　ｉｎ　ｔｈｅ　ｍａｒｇｉｎｓ．Ｉｔ　ｕｓｅｓ　ｔｈｅ　ｅｘｐｅｒｉｅｎｃｅ　ｏｆ　ｓｏｍｅｏｎｅ　ｗｈｏ　ａｌｒｅａｄｙ　ｗｅｎｔ　ｔｈｒｏｕｇｈ　ｔｈｅ　ｃｌａｓｓ　ｔｏ
ｈｅｌｐ　ｉｍｐｒｏｖｅ　ｙｏｕｒ　ｒｅａｄｉｎｇ（ｈｏｗ　ｍｕｃｈ　ｙｏｕ　ｔｒｕｓｔ　ｅａｃｈ　ｎｏｔａｔｉｏｎ　ｉｓ　ｏｂｖｉｏｕｓｌｙ　ｕｐ　ｔｏ　ｙｏｕ）．Ｂｕｔ　ｗｉｔｈ
Ｉｎｋｌｉｎｇ，ｙｏｕ　ｃａｎ　ｈｉｇｈｌｉｇｈｔ　ａ　ｐｉｅｃｅ　ｏｆ　ｃｏｎｔｅｎｔ　ａｎｄ　ｍａｋｅ　ｎｏｔｅｓ．Ｈｅｒｅｓ　ｗｈｅｒｅ　ｔｈｉｎｇｓ　ｇｅｔ　ｉｎｔｅｒｅｓｔ－
ｉｎｇ，ｔｈｏｕｇｈ：Ｉｆ　ａ　ｐａｒｔｉｃｕｌａｒｌｙ　ｉｍｐｏｒｔａｎｔ　ｐａｓｓａｇｅ　ｉｓ　ｈｉｇｈｌｉｇｈｔｅｄ　ｂｙ　ｍｕｌｔｉｐｌｅ　Ｉｎｋｌｉｎｇ　ｕｓｅｒｓ，ｔｈａｔ　ｉｎ－
ｆｏｒｍａｔｉｏｎ　ｉｓ　ｓｔｏｒｅｄ　ｏｎ　ｔｈｅ　ｃｌｏｕｄ　ａｎｄ　ｉｓ　ａｖａｉｌａｂｌｅ　ｆｏｒ　ａｎｙｏｎｅ　ｒｅａｄｉｎｇ　ｔｈｅ　ｓａｍｅ　ｔｅｘｔｂｏｏｋ　ｔｏ　ｃｏｍｅ
ａｃｒｏｓｓ．Ｔｈａｔ　ｍｅａｎｓ　ｕｓｅｒｓ　ｈａｖｅ　ａｃｃｅｓｓ　ｔｏ　ｎｏｔｅｓ　ｆｒｏｍ　ｎｏｔ　ｏｎｌｙ　ｔｈｅｉｒ　ｃｌａｓｓｍａｔｅｓ　ａｎｄ　Ｆａｃｅｂｏｏｋ
ｆｒｉｅｎｄｓ，ｂｕｔ　ａｎｙｏｎｅ　ｗｈｏ　ｐｕｒｃｈａｓｅｄ　ｔｈｅ　ｂｏｏｋ　ａｃｒｏｓｓ　ｔｈｅ　ｃｏｕｎｔｒｙ．Ｔｈｅ　ｂｅｓｔ　ｃｏｍｍｅｎｔｓ　ａｒｅ　ｔｈｅｎ
ｓｏｒｔｅｄ　ｄｅｍｏｃｒａｔｉｃａｌｌｙ　ｂｙ　ａ　ｖｏｔｉｎｇ　ｓｙｓｔｅｍ，ｍｅａｎｉｎｇ　ｔｈａｔ　ｙｏｕｒ　ｓｏｃｉａｌ　ｌｅａｒｎｉｎｇ　ｅｘｐｅｒｉｅｎｃｅ　ｉｓ　ｓｈａｒｅｄ
ｗｉｔｈ　ｔｈｅ　ｂｅｓｔ　ａｎｄ　ｂｒｉｇｈｔｅｓｔ　ｔｈｉｎｋｅｒｓ．

Ｇ）Ａｓ　ａ　ｂｏｎｕｓ，ｐｒｏｆｅｓｓｏｒｓ　ｃａｎ　ｅｖｅｎ　ｃｈｉｍｅ　ｉｎ （插话）ｏｎ　ｄｉｓｃｕｓｓｉｏｎｓ．Ｔｈｅｙｌｌ　ｂｅ　ａｂｌｅ　ｔｏ　ａｎｓｗｅｒ　ｔｈｅ
ｑｕｅｓｔｉｏｎｓ　ｏｆ　ｓｔｕｄｅｎｔｓ　ｗｈｏ　ａｒｅ　ｉｎ　ｔｈｅｉｒ　ｃｌａｓｓ　ｄｉｒｅｃｔｌｙ　ｖｉａ　ｔｈｅ　ｉｎｔｅｒａｃｔｉｖｅ　ｂｏｏｋ．Ｏｆ　ｃｏｕｒｓｅ，Ｉｎｋｌｉｎｇ
ａｄｄｒｅｓｓｅｓ　ｓｅｖｅｒａｌ　ｏｆ　ｔｈｅ　ｏｔｈｅｒ　ｓｈｏｒｔｃｏｍｉｎｇｓ　ｉｎ　ｔｒａｄｉｔｉｏｎａｌ　ｐｒｉｎｔ　ａｓ　ｗｅｌｌ．Ｔｅｘｔｂｏｏｋ　ｖｅｒｓｉｏｎｓ　ａｒｅ
ｃｏｎｓｔａｎｔｌｙ　ｕｐｄａｔｅｄ，ｍｏｔｉｖａｔｉｎｇ　ｐｕｂｌｉｓｈｅｒｓ　ｂｙ　ｍｉｎｉｍｉｚｉｎｇ　ｐｒｏｄｕｃｔｉｏｎ　ｃｏｓｔｓ（ｔｈｅ　ｂｉｇ　ｏｎｅｓ　ｌｉｋｅ
ＭｃＧｒａｗ－Ｈｉｌｌ　ａｒｅ　ａｌｒｅａｄｙ　ｏｎｂｏａｒｄ）．Ｆｕｒｔｈｅｒｍｏｒｅ，ｓｔｕｄｅｎｔｓ　ｗｉｌｌ　ｂｅ　ａｂｌｅ　ｔｏ　ｐｕｒｃｈａｓｅ　ｓｅｃｔｉｏｎｓ　ｏｆ
ｔｈｅ　ｔｅｘｔ　ｉｎｓｔｅａｄ　ｏｆ　ｂｕｙｉｎｇ　ｔｈｅ　ｗｈｏｌｅ　ｔｈｉｎｇ，ｗｉｔｈ　ｉｎｄｉｖｉｄｕａｌ　ｃｈａｐｔｅｒｓ　ｃｏｓｔｉｎｇ　ａｓ　ｌｉｔｔｌｅ　ａｓ＄２．９９．

Ｈ）Ｔｈｅｒｅ　ａｒｅ，ｈｏｗｅｖｅｒ，ｃｈａｌｌｅｎｇｅｓ．“Ｉｔ　ｔａｋｅｓ　ｅｆｆｏｒｔｓ　ｔｏ　ｂｕｉｌｄ　ｅａｃｈ　ｂｏｏｋ，”Ｍａｃｌｎｎｉｓ　ｔｅｌｌｓ　ｍｅ．Ａｎｄ
ｉｔｓ　ｃｌｅａｒ　ｗｈｙ．Ｅａｃｈ　ｉｎｔｅｒａｃｔｉｖｅ　ｔｅｘｔｂｏｏｋ　ｉｓ　ａ　ｍｅｄｉａ－ｈｅａｖｙ　ｅｘｐｅｒｉｅｎｃｅ　ｂｕｉｌｔ　ｆｒｏｍ　ｔｈｅ　ｇｒｏｕｎｄ　ｕｐ，
ａｎｄ　ｙｏｕ　ｃａｎ　ｔｅｌｌ　ｔｈａｔ　ｉｔ　ｔａｋｅｓ　ａ　ｒｅｓｐｅｃｔａｂｌｅ　ａｍｏｕｎｔ　ｏｆ　ｍａｎｐｏｗｅｒ　ｔｏ　ｐｕｔ　ｔｏｇｅｔｈｅｒ　ｅａｃｈ　ｏｎｅ．

Ｉ）Ｆｏｒ　ｎｏｗ　ｔｈｅ　ａｐｐ　ｉｓ　ａｌｓｏ　ｉＰａｄ－ｅｘｃｌｕｓｉｖｅ，ａｎｄ　ｔｈｏｕｇｈ　ａ　ｆｅｗ　ｏｆ　ｔｈｅｓｅ　ｅｄｕｃａｔｉｏｎａｌ　ｉｎｓｔｉｔｕｔｉｏｎｓ　ａｒｅ　ｇｉｖ－
ｉｎｇ　ｔｈｅ　ｈａｒｄｗａｒｅ　ａｗａｙ　ｆｏｒ　ｆｒｅｅ，ｆｏｒ　ｏｔｈｅｒ　ｓｔｕｄｅｎｔｓ　ｗｈｏ　ｄｏｎｔ　ｈａｖｅ　ｓｕｃｈ　ａ　ｌｕｘｕｒｙ　ｉｔｓ　ａｎ　ａｄｄｅｄ
ｌａｙｅｒ　ｏｆ　ｃｏｓｔ—ａｎｄ　ａｎ　ｅｘｐｅｎｓｉｖｅ　ｏｎｅ　ａｔ　ｔｈａｔ．

Ｊ）Ｂｕｔ　ｔｈｉｓ　ｍｕｃｈ　ｉｓ　ｃｌｅａｒ．Ｔｈｅ　ｔｒａｄｉｔｉｏｎａｌ　ｔｅｘｔｂｏｏｋ　ｍｏｄｅｌ　ｉｓ　ａｎｄ　ｈａｓ　ｂｅｅｎ　ｂｒｏｋｅｎ　ｆｏｒ　ｑｕｉｔｅ　ｓｏｍｅ
ｔｉｍｅ．Ｗｈｅｔｈｅｒ　ｄｉｇｉｔａｌｌｙ　ｉｎｔｅｒａｃｔｉｖｅ　ｏｎｅｓ　ｌｉｋｅ　Ｉｎｋｌｉｎｇ　ａｃｔｕａｌｌｙ　ｔａｋｅ　ｏｆｆ　ｏｒ　ｎｏｔ　ｒｅｍａｉｎｓ　ｔｏ　ｂｅ　ｓｅｅｎ，
ａｎｄ　ｗｅ　ｐｒｏｂａｂｌｙ　ｗｏｎｔ　ｈａｖｅ　ａ　ｄｅｆｉｎｉｔｅ　ａｎｓｗｅｒ　ｆｏｒ　ｔｈｅ　ｎｅｘｔ　ｆｅｗ　ｙｅａｒｓ．Ｈｏｗｅｖｅｒ　ｔｈｅ　ｓｏｌｕｔｉｏｎ　ｔｏ
ａｎｙ　ｐｒｏｂｌｅｍ　ｂｅｇｉｎｓ　ｗｉｔｈ　ａ　ｓｔｅｐ　ｉｎ　ａ　ｄｉｒｅｃｔｉｏｎ．Ａｎｄ　ａｔ　ｌｅａｓｔ　ｆｏｒ　ｎｏｗ，ｔｈａｔ　ｈａｚｙ　ｍｉｒａｇｅ　ｉｎ　ｔｈｅ　ｄｉｓ－
ｔａｎｃｅ？Ａ　ｌｉｔｔｌｅ　ｍｏｒｅ　ｔａｎｇｉｂｌｅ（可触摸的），ａ　ｌｉｔｔｌｅ　ｌｅｓｓ　ｏｆ　ａ　ｄｒｅａｍ．

１．Ｉｎｋｌｉｎｇ　ＣＥＯ　Ｍａｔｔ　Ｍａｃｌｎｎｉｓ　ｅｘｐｌａｉｎｓ　ｔｈａｔ　ｔｈｅ　ｐｒｏｂｌｅｍ　ｗｉｔｈ　Ｃｏｕｒｓｅ　Ｓｍａｒｔｓ　ｃｕｒｒｅｎｔ　ｄｉｇｉｔａｌ　ｔｅｘｔ－
ｂｏｏｋｓ　ｉｓ　ｔｈａｔ　ｔｈｅｙ　ａｒｅ　ｎｏ　ｍｏｒｅ　ｔｈａｎ　ｐｒｉｎｔ　ｖｅｒｓｉｏｎｓ　ｐｕｔ　ｏｎ　ａ　ｓｃｒｅｅｎ．

２．Ｍａｔｔ　Ｍａｃｌｎｎｉｓ　ｄｅｓｃｒｉｂｅｓ　ｔｈｅ　ｕｐｄａｔｅｄ　ｖｅｒｓｉｏｎ　ｏｆ　Ｉｎｋｌｉｎｇ　ａｓ　ａ　ｐｌａｔｆｏｒｍ　ｆｏｒ　ｂｕｉｌｄｉｎｇ　ｍｕｌｔｉｍｅｄｉａ　ｃｏｎ－
ｔｅｎｔ．
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３．Ｏｎｅ　ｐｒｏｂｌｅｍ　ｆｏｒ　ｓｔｕｄｅｎｔｓ　ｔｏ　ｒｅｐｌａｃｅ　ｔｒａｄｉｔｉｏｎａｌ　ｔｅｘｔｂｏｏｋｓ　ｗｉｔｈ　ｉｎｔｅｒａｃｔｉｖｅ　ｄｉｇｉｔａｌ　ｏｎｅｓ　ｉｓ　ｔｈｅ　ｈｉｇｈ
ｃｏｓｔ　ｏｆ　ｔｈｅ　ｈａｒｄｗａｒｅ．

４．Ａｃｃｏｒｄｉｎｇ　ｔｏ　ｔｈｅ　ａｕｔｈｏｒ，ｗｈｅｔｈｅｒ　ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋｓ　ｗｉｌｌ　ｃａｔｃｈ　ｏｎ　ｓｔｉｌｌ　ｒｅｍａｉｎｓ　ｔｏ　ｂｅ　ｓｅｅｎ．
５．Ａｃｃｏｒｄｉｎｇ　ｔｏ　Ｋａｌｐｉｔ　Ｓｈａｈ，ｓｏｍｅ　ｓｔｕｄｅｎｔｓ　ｓｔｉｌｌ　ｕｓｅ　ｐａｐｅｒ　ａｎｄ　ｐｅｎｃｉｌ　ｂｅｃａｕｓｅ　ｔｈｅｙ　ｆｉｎｄ　ｉｔ　ｔｒｏｕｂｌｅ－
ｓｏｍｅ　ｔｏ　ｔａｋｅ　ｎｏｔｅｓ　ｗｉｔｈ　ａｎ　ｉＰａｄ．

６．Ｔｈｅ　ｂｉｇｇｅｓｔ　ｐｒｏｂｌｅｍ　ｗｉｔｈ　ｔｒａｄｉｔｉｏｎａｌ　ｐｒｉｎｔ　ｔｅｘｔｂｏｏｋｓ　ｉｓ　ｔｈａｔ　ｔｈｅｙ　ａｒｅ　ｎｏｔ　ｒｅｕｓｅｄ　ｏｎｃｅ　ａ　ｎｅｗ　ｅｄｉ－
ｔｉｏｎ　ｃｏｍｅｓ　ｏｕｔ．

７．Ｏｎｅ　ａｄｄｉｔｉｏｎａｌ　ａｄｖａｎｔａｇｅ　ｏｆ　ｔｈｅ　ｉｎｔｅｒａｃｔｉｖｅ　ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋ　ｉｓ　ｔｈａｔ　ｐｒｏｆｅｓｓｏｒｓ　ｃａｎ　ｊｏｉｎ　ｉｎ　ｓｔｕｄｅｎｔｓ
ｏｎｌｉｎｅ　ｄｉｓｃｕｓｓｉｏｎｓ．

８．Ｔｈｅ　ａｕｔｈｏｒ　ｉｓ　ｍｏｓｔ　ｅｘｃｉｔｅｄ　ａｂｏｕｔ　ｌｎｋｌｉｎｇｓ　ｎｏｔａｔｉｏｎ　ｓｙｓｔｅｍ　ｂｅｃａｕｓｅ　ｏｎｅ　ｃａｎ　ｓｈａｒｅ　ｈｉｓ　ｌｅａｒｎｉｎｇ　ｅｘ－
ｐｅｒｉｅｎｃｅ　ｗｉｔｈ　ｔｈｅ　ｂｅｓｔ　ａｎｄ　ｂｒｉｇｈｔｅｓｔ　ｔｈｉｎｋｅｒｓ．

９．Ａｂｏｕｔ　ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋｓ，ｔｈｅ　ａｕｔｈｏｒ　ｓａｙｓ　ｔｈａｔ　ｔｈｅｙ　ｈａｖｅｎｔ　ｆｉｘｅｄ　ａｌｌ　ｔｈｅ　ｓｈｏｒｔｃｏｍｉｎｇｓ　ｏｆ　ｐｒｉｎｔ
ｂｏｏｋｓ．

１０．Ｏｎｅ　ｏｆ　ｔｈｅ　ｃｈａｌｌｅｎｇｅｓ　ｔｏ　ｂｕｉｌｄ　ａｎ　ｉｎｔｅｒａｃｔｉｖｅ　ｄｉｇｉｔａｌ　ｔｅｘｔｂｏｏｋ　ｆｒｏｍ　ｔｈｅ　ｇｒｏｕｎｄ　ｕｐ　ｉｓ　ｔｈａｔ　ｉｓ　ｔａｋｅｓ
ａｇｒｅａｔ　ｄｅａｌ　ｏｆ　ｍａｎｐｏｗｅｒ　ｔｏ　ｐｕｔ　ｔｏｇｅｔｈｅｒ　ｅａｃｈ　ｏｎｅ．

ＰａｒｔⅢＬｉｓｔｅｎｉｎｇ　Ｃｏｍｐｒｅｈｅｎｓｉｏｎ（３５ｍｉｎｕｔｅｓ）

Ｓｅｃｔｉｏｎ　Ａ
Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ，ｙｏｕ　ｗｉｌｌ　ｈｅａｒ　８　ｓｈｏｒｔ　ｃｏｎｖｅｒｓａｔｉｏｎｓ　ａｎｄ２　ｌｏｎｇ　ｃｏｎｖｅｒｓａｔｉｏｎｓ．Ａｔ　ｔｈｅ　ｅｎｄ

ｏｆ　ｅａｃｈ　ｃｏｎｖｅｒｓａｔｉｏｎ，ｏｎｅ　ｏｒ　ｍｏｒｅ　ｑｕｅｓｔｉｏｎｓ　ｗｉｌｌ　ｂｅ　ａｓｋｅｄ　ａｂｏｕｔ　ｗｈａｔ　ｗａｓ　ｓａｉｄ．Ｂｏｔｈ　ｔｈｅ　ｃｏｎｖｅｒｓａｔｉｏｎ
ａｎｄ　ｔｈｅ　ｑｕｅｓｔｉｏｎｓ　ｗｉｌｌ　ｂｅ　ｓｐｏｋｅｎ　ｏｎｌｙ　ｏｎｃｅ．Ａｆｔｅｒ　ｅａｃｈ　ｑｕｅｓｔｉｏｎ　ｔｈｅｒｅ　ｗｉｌｌ　ｂｅ　ａ　ｐａｕｓｅ．Ｄｕｒｉｎｇ　ｔｈｅ　ｐａｕｓｅ，
ｙｏｕ　ｍｕｓｔ　ｒｅａｄ　ｔｈｅ　ｆｏｕｒ　ｃｈｏｉｃｅｓ　ｍａｒｋｅｄ　Ａ），Ｂ），Ｃ）ａｎｄ　Ｄ），ａｎｄ　ｄｅｃｉｄｅ　ｗｈｉｃｈ　ｉｓ　ｔｈｅ　ｂｅｓｔ　ａｎｓｗｅｒ．Ｔｈｅｎ
ｍａｒｋ　ｔｈｅ　ｃｏｒｒｅｓｐｏｎｄｉｎｇ　ｌｅｔｔｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　１　ｗｉｔｈ　ａ　ｓｉｎｇｌｅ　ｌｉｎｅ　ｔｈｒｏｕｇｈ　ｔｈｅ　ｃｅｎｔｒｅ．

１１．Ａ）Ｔｈｅ　ｗｏｍａｎ　ｉｓ　ｔｈｅ　ｍａｎａｇｅｒｓ　ｓｅｃｒｅｔａｒｙ．
Ｂ）Ｔｈｅ　ｍａｎ　ｆｏｕｎｄ　ｈｉｍｓｅｌｆ　ｉｎ　ａ　ｗｒｏｎｇ　ｐｌａｃｅ．
Ｃ）Ｔｈｅ　ｍａｎ　ｉｓ　ｔｈｅ　ｍａｎａｇｅｒｓ　ｂｕｓｉｎｅｓｓ　ａｓｓｏｃｉａｔｅ．
Ｄ）Ｔｈｅ　ｗｏｍａｎ　ｗａｓ　ｐｕｔｔｉｎｇ　ｕｐ　ａ　ｓｉｇｎ　ｏｎ　ｔｈｅ　ｗａｌｌ．

１２．Ａ）Ｈｅ　ｎｅｅｄｓ　ｍｏｒｅ　ｔｉｍｅ　ｆｏｒ　ｔｈｅ　ｒｅｐｏｒｔ．
Ｂ）Ｈｅ　ｎｅｅｄｓ　ｈｅｌｐ　ｔｏ　ｉｎｔｅｒｐｒｅｔ　ｔｈｅ　ｄａｔａ．
Ｃ）Ｈｅ　ｉｓ　ｓｏｒｒｙ　ｎｏｔ　ｔｏ　ｈａｖｅ　ｈｅｌｐｅｄ　ｔｈｅ　ｗｏｍａｎ．
Ｄ）Ｈｅ　ｄｏｅｓ　ｎｏｔ　ｈａｖｅ　ｓｕｆｆｉｃｉｅｎｔ　ｄａｔａ　ｔｏ　ｇｏ　ｏｎ．

１３．Ａ）Ａ　ｆｒｉｅｎｄ　ｆｒｏｍ　Ｎｅｗ　Ｙｏｒｋ． Ｂ）Ａ　ｍｅｓｓａｇｅ　ｆｒｏｍ　Ｔｏｎｙ．
Ｃ）Ａ　ｐｏｓｔａｌ　ｄｅｌｉｖｅｒｙ． Ｄ）Ａ　ｃｈａｎｇｅ　ｉｎ　ｔｈｅ　ｗｅａｔｈｅｒ．

１４．Ａ）Ｓｈｅ　ｉｓ　ｎｏｔ　ａｖａｉｌａｂｌｅ　ｕｎｔｉｌ　ｔｈｅ　ｅｎｄ　ｏｆ　ｎｅｘｔ　ｗｅｅｋ．　
Ｂ）Ｓｈｅ　ｉｓ　ｎｏｔ　ａ　ｒｅｌｉａｂｌｅ　ｓｏｕｒｃｅ　ｏｆ　ｉｎｆｏｒｍａｔｉｏｎ．　
Ｃ）Ｓｈｅ　ｄｏｅｓ　ｎｏｔ　ｌｉｋｅ　ｔａｋｉｎｇ　ｅｘａｍｓ．　
Ｄ）Ｓｈｅ　ｄｏｅｓ　ｎｏｔ　ｌｉｋｅ　ｐｓｙｃｈｏｌｏｇｙ．

１５．Ａ）Ｈｅ　ｗｉｌｌ　ｈｅｌｐ　ｔｈｅ　ｗｏｍａｎ　ｃａｒｒｙ　ｔｈｅ　ｓｕｉｔｃａｓｅ．
Ｂ）Ｔｈｅ　ｗｏｍａｎｓ　ｗａｔｃｈ　ｉｓ　ｔｗｅｎｔｙ　ｍｉｎｕｔｅｓ　ｆａｓｔ．
Ｃ）Ｔｈｅ　ｗｏｍａｎ　ｓｈｏｕｌｄｎｔ　ｍａｋｅ　ｓｕｃｈ　ａ　ｂｉｇ　ｆｕｓｓ．
Ｄ）Ｔｈｅｒｅ　ｉｓ　ｎｏ　ｎｅｅｄ　ｆｏｒ　ｔｈｅ　ｗｏｍａｎ　ｔｏ　ｂｅ　ｉｎ　ａ　ｈｕｒｒｙ．

１６．Ａ）Ｍａｒｙ　ｉｓ　ｎｏｔ　ｓｏ　ｅａｓｙｇｏｉｎｇ　ａｓ　ｈｅｒ．
Ｂ）Ｍａｒｙ　ａｎｄ　ｓｈｅ　ｈａｖｅ　ａ　ｌｏｔ　ｉｎ　ｃｏｍｍｏｎ．
Ｃ）Ｓｈｅ　ｆｉｎｄｓ　ｉｔ　ｈａｒｄ　ｔｏ　ｇｅｔ　ａｌｏｎｇ　ｗｉｔｈ　Ｍａｒｙ．
Ｄ）Ｓｈｅ　ｄｏｅｓ　ｎｏｔ　ｂｅｌｉｅｖｅ　ｗｈａｔ　ｈｅｒ　ｎｅｉｇｈｂｏｒｓ　ｓａｉｄ．

１７．Ａ）Ａｔ　ａｎ　ｉｎｆｏｒｍａｔｉｏｎ　ｓｅｒｖｉｃｅ．　 Ｂ）Ａｔ　ａ　ｃａｒ　ｗａｓｈ　ｐｏｉｎｔ．
Ｃ）Ａｔ　ａ　ｒｅｐａｉｒ　ｓｈｏｐ． Ｄ）Ａｔ　ａ　ｄｒｙ　ｃｌｅａｎｅｒｓ．

１８．Ａ）Ｔｈｅ　ｗｏｍａｎ　ｃａｍｅ　ｔｏ　ｔｈｅ　ｃｏｎｃｅｒｔ　ａｔ　ｔｈｅ　ｍａｎｓ　ｒｅｑｕｅｓｔ．　
Ｂ）Ｔｈｅ　ｍａｎ　ｉｓ　ａｌｒｅａｄｙ　ｆｅｄ　ｕｐ　ｗｉｔｈ　ｐｌａｙｉｎｇ　ｔｈｅ　ｐｉａｎｏ．　
Ｃ）Ｔｈｅ　ｐｉｅｃｅ　ｏｆ　ｍｕｓｉｃ　ｔｈｅ　ｍａｎ　ｐｌａｙｅｄ　ｉｓ　ｖｅｒｙ　ｐｏｐｕｌａｒ．　
Ｄ）Ｔｈｅ　ｍａｎｓ　ｕｎｉｑｕｅ　ｔａｌｅｎｔｓ　ａｒｅ　ｔｈｅ　ｅｎｖｙ　ｏｆ　ｍａｎｙ　ｐｅｏｐｌｅ．
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Ｑｕｅｓｔｉｏｎｓ　１９ｔｏ　２２ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｃｏｎｖｅｒｓａｔｉｏｎ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
１９．Ａ）Ｈｅ　ｈａｓ　ｔａｕｇｈｔ　Ｓｐａｎｉｓｈ　ｆｏｒ　ａ　ｃｏｕｐｌｅ　ｏｆ　ｙｅａｒｓ　ａｔ　ａ　ｌｏｃａｌ　ｓｃｈｏｏｌ．
Ｂ）Ｈｅ　ｗｏｒｋｅｄ　ａｔ　ｔｈｅ　Ｂｒｏｗｎｓｔｏｎｅ　Ｃｏｍｐａｎｙ　ｆｏｒ　ｓｅｖｅｒａｌ　ｙｅａｒｓ．
Ｃ）Ｈｅ　ｏｗｎｅｄ　ａ　ｓｍａｌｌ　ｒｅｔａｉｌ　ｂｕｓｉｎｅｓｓ　ｉｎ　Ｍｉｃｈｉｇａｎ　ｙｅａｒｓ　ａｇｏ．
Ｄ）Ｈｅ　ｈａｓ　ｂｅｅｎ　ｗｏｒｋｉｎｇ　ｐａｒｔ－ｔｉｍｅ　ｉｎ　ａ　ｓｃｈｏｏｌ　ｎｅａｒ　Ｄｅｔｒｏｉｔ．

２０．Ａ）Ｈｅ　ｐｒｅｆｅｒｓ　ａ　ｆｕｌｌ－ｔｉｍｅ　ｊｏｂ　ｗｉｔｈ　ｍｏｒｅ　ｒｅｓｐｏｎｓｉｂｉｌｉｔｙ．　
Ｂ）Ｈｅ　ｉｓ　ｅａｇｅｒ　ｔｏ　ｆｉｎｄ　ａ　ｊｏｂ　ｗｉｔｈ　ａｎ　ｉｎｃｒｅａｓｅｄ　ｓａｌａｒｙ．　
Ｃ）Ｈｅ　ｌｉｋｅｓ　ｔｏ　ｗｏｒｋ　ｉｎ　ａ　ｃｏｍｐａｎｙ　ｃｌｏｓｅ　ｔｏ　ｈｏｍｅ．　
Ｄ）Ｈｅ　ｗｏｕｌｄ　ｒａｔｈｅｒ　ｇｅｔ　ａ　ｌｅｓｓ　ｄｅｍａｎｄｉｎｇ　ｊｏｂ．

２１．Ａ）Ｓｐｏｒｔｓ． Ｂ）Ｔｒａｖｅｌ．
Ｃ）Ｆｏｒｅｉｇｎ　ｌａｎｇｕａｇｅｓ． Ｄ）Ｃｏｍｐｕｔｅｒ　ｇａｍｅｓ．

２２．Ａ）Ｗｈｅｎ　ｈｅ　ｉｓ　ｓｕｐｐｏｓｅｄ　ｔｏ　ｓｔａｒｔ　ｗｏｒｋ．　
Ｂ）Ｗｈａｔ　ｒｅｓｐｏｎｓｉｂｉｌｉｔｉｅｓ　ｈｅ　ｗｏｕｌｄ　ｈａｖｅ．
Ｃ）Ｗｈｅｎ　ｈｅ　ｗｉｌｌ　ｂｅ　ｉｎｆｏｒｍｅｄ　ａｂｏｕｔ　ｈｉｓ　ａｐｐｌｉｃａｔｉｏｎ．
Ｄ）Ｗｈａｔ　ｃａｒｅｅｒ　ｏｐｐｏｒｔｕｎｉｔｉｅｓ　ｈｅｒ　ｃｏｍｐａｎｙ　ｃａｎ　ｏｆｆｅｒ．

Ｑｕｅｓｔｉｏｎｓ　２３ｔｏ　２５ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｃｏｎｖｅｒｓａｔｉｏｎ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
２３．Ａ）Ｓｈｅ　ｉｓ　ｐｒｅｇｎａｎｔ． Ｂ）Ｓｈｅ　ｉｓ　ｏｖｅｒ　５０．
Ｃ）Ｓｈｅ　ｈａｓ　ｊｕｓｔ　ｆｉｎｉｓｈｅｄ　ｈｅｒ　ｐｒｏｊｅｃｔ． Ｄ）Ｓｈｅ　ｉｓ　ａ　ｇｏｏｄ　ｓａｌｅｓｗｏｍａｎ．

２４．Ａ）Ｈｅ　ｔａｋｅｓ　ｇｏｏｄ　ｃａｒｅ　ｏｆ　Ｌｉｓａ． Ｂ）Ｈｅ　ｉｓ　ｔｈｅ　ＣＥＯ　ｏｆ　ａ　ｇｉａｎｔ　ｃｏｍｐａｎｙ．
Ｃ）Ｈｅ　ｉｓ　ｇｏｏｄ　ａｔ　ｂｕｓｉｎｅｓｓ　ｍａｎａｇｅｍｅｎｔ． Ｄ）Ｈｅ　ｗｏｒｋｓ　ａｓ　ａ　ｓａｌｅｓ　ｍａｎａｇｅｒ．

２５．Ａ）Ｉｔ　ｉｓ　ｉｎ　ｕｒｇｅｎｔ　ｎｅｅｄ　ｏｆ　ｆｕｒｔｈｅｒ　ｄｅｖｅｌｏｐｍｅｎｔ．
Ｂ）Ｉｔ　ｐｒｏｄｕｃｅｓ　ｇｏｏｄｓ　ｐｏｐｕｌａｒ　ａｍｏｎｇ　ｌｏｃａｌ　ｐｅｏｐｌｅ．
Ｃ）Ｉｔ　ｈａｓ　ｂｅｅｎ　ｌｏｓｉｎｇ　ｍａｒｋｅｔ　ｓｈａｒｅ　ｉｎ　ｒｅｃｅｎｔ　ｙｅａｒｓ．
Ｄ）Ｉｔ　ｉｓ　ｗｅｌｌ　ｐｏｓｉｔｉｏｎｅｄ　ｔｏ　ｃｏｍｐｅｔｅ　ｗｉｔｈ　ｔｈｅ　ｇｉａｎｔｓ．

Ｓｅｃｔｉｏｎ　Ｂ
Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ　ｙｏｕ　ｗｉｌｌ　ｈｅａｒ　３　ｓｈｏｒｔ　ｐａｓｓａｇｅｓ．Ａｔ　ｔｈｅ　ｅｎｄ　ｏｆ　ｅａｃｈ　ｐａｓｓａｇｅ，ｙｏｕ　ｗｉｌｌ

ｈｅａｒ　ｓｏｍｅ　ｑｕｅｓｔｉｏｎｓ．Ｂｏｔｈ　ｔｈｅ　ｐａｓｓａｇｅ　ａｎｄ　ｔｈｅ　ｑｕｅｓｔｉｏｎｓ　ｗｉｌｌ　ｂｅ　ｓｐｏｋｅｎ　ｏｎｌｙ　ｏｎｃｅ．Ａｆｔｅｒ　ｙｏｕ　ｈｅａｒ　ａ　ｑｕｅｓ－
ｔｉｏｎ，ｙｏｕ　ｍｕｓｔ　ｃｈｏｏｓｅ　ｔｈｅ　ｂｅｓｔ　ａｎｓｗｅｒ　ｆｒｏｍ　ｔｈｅ　ｆｏｕｒ　ｃｈｏｉｃｅｓ　ｍａｒｋｅｄ　Ａ），Ｂ），Ｃ）ａｎｄ　Ｄ）．Ｔｈｅｎ　ｍａｒｋ　ｔｈｅ
ｃｏｒｒｅｓｐｏｎｄｉｎｇ　ｌｅｔｔｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　１　ｗｉｔｈ　ａ　ｓｉｎｇｌｅ　ｌｉｎｅ　ｔｈｒｏｕｇｈ　ｔｈｅ　ｃｅｎｔｒｅ．

Ｐａｓｓａｇｅ　Ｏｎｅ
Ｑｕｅｓｔｉｏｎｓ　２６ｔｏ　２９ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
２６．Ａ）Ｉｔ　ｉｓ　ｌｉｎｅｄ　ｗｉｔｈ　ｔａｌｌ　ｔｒｅｅｓ． Ｂ）Ｉｔ　ｗａｓ　ｗｉｄｅｎｅｄ　ｒｅｃｅｎｔｌｙ．
Ｃ）Ｉｔ　ｈａｓ　ｈｉｇｈ　ｂｕｉｌｄｉｎｇｓ　ｏｎ　ｂｏｔｈ　ｓｉｄｅｓ． Ｄ）Ｉｔ　ｕｓｅｄ　ｔｏ　ｂｅ　ｄｉｒｔｙ　ａｎｄ　ｄｉｓｏｒｄｅｒｌｙ．　

２７．Ａ）Ｔｈｅｙ　ｒｅｐａｖｅｄ　ｉｔ　ｗｉｔｈ　ｒｏｃｋｓ． Ｂ）Ｔｈｅｙ　ｂｕｉｌｔ　ｐｕｂｌｉｃ　ｒｅｓｔｒｏｏｍｓ　ｏｎ　ｉｔ．
Ｃ）Ｔｈｅｙ　ｂｅａｕｔｉｆｉｅｄ　ｉｔ　ｗｉｔｈ　ｐｌａｎｔｓ． Ｄ）Ｔｈｅｙ　ｓｅｔ　ｕｐ　ｃｏｏｋｉｎｇ　ｆａｃｉｌｉｔｉｅｓ　ｎｅａｒ　ｉｔ．

２８．Ａ）Ｗｈａｔ　ｍａｋｅｓ　ｌｉｆｅ　ｅｎｊｏｙａｂｌｅ． Ｂ）Ｈｏｗ　ｔｏ　ｗｏｒｋ　ｗｉｔｈ　ｔｏｏｌｓ．
Ｃ）Ｗｈａｔ　ａ　ｃｏｍｍｕｎｉｔｙ　ｍｅａｎｓ． Ｄ）Ｈｏｗ　ｔｏ　ｉｍｐｒｏｖｅ　ｈｅａｌｔｈ．

２９．Ａ）Ｔｈｅｙ　ｗｅｒｅ　ｏｂｌｉｇｅｄ　ｔｏ　ｆｕｌｆｉｌｌ　ｔｈｅ　ｓｉｇｎｅｄ　ｃｏｎｔｒａｃｔ．
Ｂ）Ｔｈｅｙ　ｗｅｒｅ　ｅｎｃｏｕｒａｇｅｄ　ｂｙ　ｔｈｅ　ｃｉｔｙ　ｏｆｆｉｃｉａｌｓｐｒａｉｓｅ．　
Ｃ）Ｔｈｅｙ　ｗａｎｔｅｄ　ｔｏ　ｐｒｏｖｅ　ｔｈｅｙ　ｗｅｒｅ　ａｓ　ｃａｐａｂｌｅ　ａｓ　ｂｏｙｓ．　
Ｄ）Ｔｈｅｙ　ｄｅｒｉｖｅｄ　ｈａｐｐｉｎｅｓｓ　ｆｒｏｍ　ｔｈｅ　ｃｏｎｓｔｒｕｃｔｉｖｅ　ｗｏｒｋ．

Ｐａｓｓａｇｅ　Ｔｗｏ
Ｑｕｅｓｔｉｏｎｓ　３０ｔｏ　３２ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
３０．Ａ）Ｔｈｅ　ｍａｊｏｒｉｔｙ　ｏｆ　ｔｈｅｍ　ｔｈｉｎｋ　ｉｔ　ｌｅｓｓ　ｉｍｐｏｒｔａｎｔ　ｔｈａｎ　ｃｏｍｐｕｔｅｒｓ．　
Ｂ）Ｍａｎｙ　ｏｆ　ｔｈｅｍ　ｃｏｎｓｉｄｅｒ　ｉｔ　ｂｏｒｉｎｇ　ａｎｄ　ｏｌｄ－ｆａｓｈｉｏｎｅｄ．　
Ｃ）Ｔｈｅ　ｍａｊｏｒｉｔｙ　ｏｆ　ｔｈｅｍ　ｆｉｎｄ　ｉｔ　ｉｎｔｅｒｅｓｔｉｎｇ．　
Ｄ）Ｆｅｗ　ｏｆ　ｔｈｅｍ　ｒｅａｄ　ｍｏｒｅ　ｔｈａｎ　ｔｅｎ　ｂｏｏｋｓ　ａ　ｙｅａｒ．

３１．Ａ）Ｎｏｖｅｌｓ　ａｎｄ　ｓｔｏｒｉｅｓ． Ｂ）Ｍｙｓｔｅｒｉｅｓ　ａｎｄ　ｄｅｔｅｃｔｉｖｅ　ｓｔｏｒｉｅｓ．　
Ｃ）Ｈｉｓｔｏｒｙ　ａｎｄ　ｓｃｉｅｎｃｅ　ｂｏｏｋｓ． Ｄ）Ｂｏｏｋｓ　ｏｎ　ｃｕｌｔｕｒｅ　ａｎｄ　ｔｒａｄｉｔｉｏｎ．

３２．Ａ）Ｗａｔｃｈｉｎｇ　ＴＶ． Ｂ）Ｌｉｓｔｅｎｉｎｇ　ｔｏ　ｍｕｓｉｃ．　
Ｃ）Ｒｅａｄｉｎｇ　ｍａｇａｚｉｎｅｓ． Ｄ）Ｐｌａｙｉｎｇ　ｃｏｍｐｕｔｅｒ　ｇａｍｅｓ．　
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Ｐａｓｓａｇｅ　Ｔｈｒｅｅ
Ｑｕｅｓｔｉｏｎｓ　３３ｔｏ　３５ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
３３．Ａ）Ａｄｖｉｃｅ　ｏｎ　ｔｈｅ　ｐｕｒｃｈａｓｅ　ｏｆ　ｃａｒｓ．　
Ｂ）Ｉｎｆｏｒｍａｔｉｏｎ　ａｂｏｕｔ　ｔｈｅ　ｎｅｗ　ｇｒｅｅｎ－ｆｕｅｌ　ｖｅｈｉｃｌｅｓ．　
Ｃ）Ｔｒｅｎｄｓ　ｆｏｒ　ｔｈｅ　ｄｅｖｅｌｏｐｍｅｎｔ　ｏｆ　ｔｈｅ　ｍｏｔｏｒ　ｃａｒ．　
Ｄ）Ｓｏｌｕｔｉｏｎｓ　ｔｏ　ｇｌｏｂａｌ　ｆｕｅｌ　ｓｈｏｒｔａｇｅ．　

３４．Ａ）Ｌｉｍｉｔｅｄ　ｄｒｉｖｉｎｇ　ｒａｎｇｅ． Ｂ）Ｔｈｅ　ｓｈｏｒｔ　ｌｉｆｅ　ｏｆ　ｂａｔｔｅｒｉｅｓ．　
Ｃ）Ｈｕｇｅ　ｒｅｃｈａｒｇｉｎｇ　ｅｘｐｅｎｓｅｓ． Ｄ）Ｔｈｅ　ｕｎａｆｆｏｒｄａｂｌｅ　ｈｉｇｈ　ｐｒｉｃｅ．　

３５．Ａ）Ｔｈｅｙ　ｎｅｅｄ　ｔｏ　ｂｅ　ｆｕｒｔｈｅｒ　ｉｍｐｒｏｖｅｄ．　
Ｂ）Ｔｈｅｙ　ｃａｎ　ｅａｓｉｌｙ　ｓｗｉｔｃｈ　ｔｏ　ｎａｔｕｒａｌ　ｇａｓ．　
Ｃ）Ｔｈｅｙ　ａｒｅ　ｍｏｒｅ　ｃｏｓｔ－ｅｆｆｅｃｔｉｖｅ　ｔｈａｎ　ｖｅｈｉｃｌｅｓ　ｐｏｗｅｒｅｄ　ｂｙ　ｓｏｌａｒ　ｅｎｅｒｇｙ．　
Ｄ）Ｔｈｅｙ　ｃａｎ　ｍａｔｃｈ　ｃｏｎｖｅｎｔｉｏｎａｌ　ｍｏｔｏｒ　ｃａｒｓ　ｉｎ　ｐｅｒｆｏｒｍａｎｃｅ　ａｎｄ　ｓａｆｅｔｙ．　

Ｓｅｃｔｉｏｎ　Ｃ
Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ，ｙｏｕ　ｗｉｌｌ　ｈｅａｒ　ａ　ｐａｓｓａｇｅ　ｔｈｒｅｅ　ｔｉｍｅｓ．Ｗｈｅｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｉｓ　ｒｅａｄ　ｆｏｒ　ｔｈｅ

ｆｉｒｓｔ　ｔｉｍｅ，ｙｏｕ　ｓｈｏｕｌｄ　ｌｉｓｔｅｎ　ｃａｒｅｆｕｌｌｙ　ｆｏｒ　ｉｔｓ　ｇｅｎｅｒａｌ　ｉｄｅａ．Ｗｈｅｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｉｓ　ｒｅａｄ　ｆｏｒ　ｔｈｅ　ｓｅｃｏｎｄ
ｔｉｍｅ，ｙｏｕ　ａｒｅ　ｒｅｑｕｉｒｅｄ　ｔｏ　ｆｉｌｌ　ｉｎ　ｔｈｅ　ｂｌａｎｋｓ　ｎｕｍｂｅｒｅｄ　ｆｒｏｍ３６　ｔｏ４３　ｗｉｔｈ　ｔｈｅ　ｅｘａｃｔ　ｗｏｒｄｓ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ
ｈｅａｒｄ．Ｆｏｒ　ｂｌａｎｋｓ　ｎｕｍｂｅｒｅｄ　ｆｒｏｍ４４　ｔｏ４６　ｙｏｕ　ａｒｅ　ｒｅｑｕｉｒｅｄ　ｔｏ　ｆｉｌｌ　ｉｎ　ｔｈｅ　ｍｉｓｓｉｎｇ　ｉｎｆｏｒｍａｔｉｏｎ．Ｆｏｒ　ｔｈｅｓｅ
ｂｌａｎｋｓ　ｙｏｕ　ｃａｎ　ｅｉｔｈｅｒ　ｕｓｅ　ｔｈｅ　ｅｘａｃｔ　ｗｏｒｄｓ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ　ｏｒ　ｗｒｉｔｅ　ｄｏｗｎ　ｔｈｅ　ｍａｉｎ　ｐｏｉｎｔｓ　ｉｎ　ｙｏｕｒ
ｏｗｎ　ｗｏｒｄｓ．Ｆｉｎａｌｌｙ　ｗｈｅｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｉｓ　ｒｅａｄ　ｆｏｒ　ｔｈｅ　ｔｈｉｒｄ　ｔｉｍｅ，ｙｏｕ　ｓｈｏｕｌｄ　ｃｈｅｃｋ　ｗｈａｔ　ｙｏｕ　ｈａｖｅ　ｗｒｉｔ－
ｔｅｎ．

Ｍｙ　ｆａｖｏｒｉｔｅ　ＴＶ　ｓｈｏｗ？“Ｔｈｅ　Ｔｗｉｌｉｇｈｔ　Ｚｏｎｅ．”Ｉ（３６） ｌｉｋｅ　ｔｈｅ　ｅｐｉｓｏｄｅ　ｃａｌｌｅｄ“Ｔｈｅ　Ｐｒｉｎｔｅｒｓ
Ｄｅｖｉｌ．”Ｉｔｓ　ａｂｏｕｔ　ａ　ｎｅｗｓｐａｐｅｒ　ｅｄｉｔｏｒ　ｗｈｏｓ　ｂｅｉｎｇ（３７） ｏｕｔ　ｏｆ　ｂｕｓｉｎｅｓｓ　ｂｙ　ａ　ｂｉｇ　ｎｅｗｓｐａｐｅｒ　ｓｙｎ－
ｄｉｃａｔｅ－ｙｏｕ　ｋｎｏｗ，ａｇｒｏｕｐ　ｏｆ　ｐａｐｅｒｓ（３８） ｂｙ　ｔｈｅ　ｓａｍｅ　ｐｅｏｐｌｅ．Ｈｅ　ｉｓ　ａｂｏｕｔ　ｔｏ（３９）
ｓｕｉｃｉｄｅ　ｗｈｅｎ　ｈｅ　ｉｓ　ｉｎｔｅｒｒｕｐｔｅｄ　ｂｙ　ａｎ　ｏｌｄ　ｍａｎ　ｗｈｏ　ｓａｙｓ　ｈｉｓ　ｎａｍｅ　ｉｓ　Ｓｍｉｔｈ．Ｔｈｅ　ｅｄｉｔｏｒ　ｉｓ　ｎｏｔ　ｏｎｌｙ　ｏｆｆｅｒｅｄ
５，０００ｄｏｌｌａｒｓ　ｔｏ　ｐａｙ　ｏｆｆ　ｈｉｓ　ｎｅｗｓｐａｐｅｒｓ （４０） ，ｂｕｔ　ｔｈｉｓ　Ｓｍｉｔｈ　ｃｈａｒａｃｔｅｒ　ａｌｓｏ　ｏｆｆｅｒｓ　ｈｉｓ
（４１） ｆｏｒ　ｆｒｅｅ．Ｉｔ　ｔｕｒｎｓ　ｏｕｔ　ｔｈａｔ　ｔｈｅ　ｇｕｙ（４２） ｔｈｅ　ｐｒｉｎｔｉｎｇ　ｍａｃｈｉｎｅ　ｗｉｔｈ　ａｍａｚｉｎｇ　ｓｐｅｅｄ，
ａｎｄ　ｓｏｏｎ　ｈｅ　ｉｓ　ｔｕｒｎｉｎｇ　ｏｕｔ　ｎｅｗｓｐａｐｅｒｓ　ｗｉｔｈ（４３） ｈｅａｄｌｉｎｅｓ．Ｔｈｅ　ｓｍａｌｌ　ｐａｐｅｒ　ｉｓ　ｓｕｃｃｅｓｓｆｕｌ　ａ－
ｇａｉｎ．Ｔｈｅ　ｅｄｉｔｏｒ　ｉｓ　ａｍａｚｅｄ　ａｔ　ｈｏｗ　ｑｕｉｃｋｌｙ　Ｓｍｉｔｈ　ｇｅｔｓ　ｈｉｓ　ｓｔｏｒｉｅｓ－ｏｎｌｙ　ｍｉｎｕｔｅｓ　ａｆｔｅｒ　ｔｈｅｙ　ｈａｐｐｅｎ －ｂｕｔ
ｓｏｏｎ　ｈｅ　ｉｓ　ｐｒｅｓｅｎｔｅｄ　ｗｉｔｈ　ａ　ｃｏｎｔｒａｃｔ　ｔｏ　ｓｉｇｎ．Ｍｒ．Ｓｍｉｔｈ，ｉｔ　ｓｅｅｍｓ，ｉｓ　ｒｅａｌｌｙ　ｔｈｅ　ｄｅｖｉｌ！（４４） ，ｓｏ
ｈｅ　ａｇｒｅｅｓ　ｔｏ　ｓｉｇｎ．Ｂｕｔ　ｓｏｏｎ　Ｓｍｉｔｈ　ｉｓ　ｒｅｐｏｒｔｉｎｇ　ｔｈｅ　ｎｅｗｓ　ｅｖｅｎ　ｂｅｆｏｒｅ　ｉｔ　ｈａｐｐｅｎｓ－ａｎｄ　ｉｔｓ　ａｌｌ　ｔｅｒｒｉｂｌｅ－ｏｎｅ
ｄｉｓａｓｔｅｒ　ａｆｔｅｒ　ａｎｏｔｈｅｒ．（４５） ．Ｉ　ｒｅａｌｌｙ　ｌｉｋｅ　ｔｈｅｓｅ　ｏｌｄ　ｅｐｉｓｏｄｅｓ　ｏｆ　ｔｈｅ　Ｔｗｉｌｉｇｈｔ　Ｚｏｎｅ，ｂｅｃａｕｓｅ　ｔｈｅ
ｓｔｏｒｉｅｓ　ａｒｅ　ｆａｓｃｉｎａｔｉｎｇ．（４６） ．

ＰａｒｔⅣ Ｒｅａｄｉｎｇ　Ｃｏｍｐｒｅｈｅｎｓｉｏｎ（Ｒｅａｄｉｎｇ　ｉｎ　Ｄｅｐｔｈ）（２５ｍｉｎｕｔｅｓ）

Ｓｅｃｔｉｏｎ　Ａ
Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ，ｔｈｅｒｅ　ｉｓ　ａ　ｐａｓｓａｇｅ　ｗｉｔｈ　ｔｅｎ　ｂｌａｎｋｓ．Ｙｏｕ　ａｒｅ　ｒｅｑｕｉｒｅｄ　ｔｏ　ｓｅｌｅｃｔ　ｏｎｅ　ｗｏｒｄ

ｆｏｒ　ｅａｃｈ　ｂｌａｎｋ　ｆｒｏｍ　ａ　ｌｉｓｔ　ｏｆ　ｃｈｏｉｃｅｓ　ｇｉｖｅｎ　ｉｎ　ａ　ｗｏｒｄ　ｂａｎｋ　ｆｏｌｌｏｗｉｎｇ　ｔｈｅ　ｐａｓｓａｇｅ．Ｒｅａｄ　ｔｈｅ　ｐａｓｓａｇｅ
ｔｈｒｏｕｇｈ　ｃａｒｅｆｕｌｌｙ　ｂｅｆｏｒｅ　ｍａｋｉｎｇ　ｙｏｕｒ　ｃｈｏｉｃｅｓ．Ｅａｃｈ　ｃｈｏｉｃｅ　ｉｎ　ｔｈｅ　ｂａｎｋ　ｉｓ　ｉｄｅｎｔｉｆｉｅｄ　ｂｙ　ａ　ｌｅｔｔｅｒ．Ｐｌｅａｓｅ
ｍａｒｋ　ｔｈｅ　ｃｏｒｒｅｓｐｏｎｄｉｎｇ　ｌｅｔｔｅｒ　ｆｏｒ　ｅａｃｈ　ｉｔｅｍ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　２　ｗｉｔｈ　ａ　ｓｉｎｇｌｅ　ｌｉｎｅ　ｔｈｒｏｕｇｈ　ｔｈｅ　ｃｅｎｔｒｅ．Ｙｏｕ
ｍａｙ　ｎｏｔ　ｕｓｅ　ａｎｙ　ｏｆ　ｔｈｅ　ｗｏｒｄｓ　ｉｎ　ｔｈｅ　ｂａｎｋ　ｍｏｒｅ　ｔｈａｎ　ｏｎｃｅ．

Ｑｕｅｓｔｉｏｎｓ　４７ｔｏ　５６ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｐａｓｓａｇｅ．
Ｗａｌｋｉｎｇ，ｉｆ　ｙｏｕ　ｄｏ　ｉｔ　ｖｉｇｏｒｏｕｓｌｙ　ｅｎｏｕｇｈ，ｉｓ　ｔｈｅ　ｏｖｅｒａｌｌ　ｂｅｓｔ　ｅｘｅｒｃｉｓｅ　ｆｏｒ　ｒｅｇｕｌａｒ　ｐｈｙｓｉｃａｌ　ａｃｔｉｖｉｔｙ．Ｉｔ

ｒｅｑｕｉｒｅｓ　ｎｏ　ｅｑｕｉｐｍｅｎｔ，ｅｖｅｒｙｏｎｅ　ｋｎｏｗｓ　ｈｏｗ　ｔｏ　ｄｏ　ｉｔ　ａｎｄ　ｉｔ　ｃａｒｒｉｅｓ　ｔｈｅ　４７　ｒｉｓｋ　ｏｆ　ｉｎｊｕｒｙ．Ｔｈｅ　ｈｕｍａｎ
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Ｂ）Ｔｈｅｒｅ　ａｒｅ　ａｌｒｅａｄｙ　ｔｏｏ　ｍａｎｙ　ｓｔｏｒｅｓ　ｓｅｌｌｉｎｇ　ａｌｃｏｈｏｌ．
Ｃ）Ｄｒｉｎｋｉｎｇ　ｓｔｒｏｎｇ　ａｌｃｏｈｏｌ　ｃａｎ　ｃａｕｓｅ　ｓｏｃｉａｌ　ｐｒｏｂｌｅｍｓ．
Ｄ）Ｅａｓｙ　ａｃｃｅｓｓ　ｌｅａｄｓ　ｔｏ　ｃｕｓｔｏｍｅｒｓｏｖｅｒ－ｃｏｎｓｕｍｐｔｉｏｎ．

６０．Ｗｈａｔ　ｉｓ　ｔｈｅ　ｐｕｒｐｏｓｅ　ｏｆ　Ｃａｌｉｆｏｒｎｉａｓ　ｒｕｌｅ　ａｂｏｕｔ　ａｌｃｏｈｏｌ　ｄｉｓｐｌａｙ　ｉｎ　ｇａｓ　ｓｔａｔｉｏｎｓ？
Ａ）Ｔｏ　ｅｆｆｅｃｔｉｖｅｌｙ　ｌｉｍｉｔ　ｔｈｅ　ｄｅｎｓｉｔｙ　ｏｆ　ａｌｃｏｈｏｌ　ｏｕｔｌｅｔｓ．
Ｂ）Ｔｏ　ｈｅｌｐ　ｄｒｉｖｅｒｓ　ｔｏ　ｇｉｖｅ　ｕｐ　ｔｈｅ　ｈａｂｉｔ　ｏｆ　ｄｒｉｎｋｉｎｇ．
Ｃ）Ｔｏ　ｐｒｅｖｅｎｔ　ｐｏｓｓｉｂｌｅ　ｔｒａｆｆｉｃ　ｊａｍｓ　ｉｎ　ｎｅａｒｂｙ　ａｒｅａｓ．
Ｄ）Ｔｏ　ｇｅｔ　ａｌｃｏｈｏｌ　ｏｕｔ　ｏｆ　ｄｒｉｖｅｒｓｉｍｍｅｄｉａｔｅ　ｓｉｇｈｔ．

６１．Ｗｈａｔ　ｉｓ　ｔｈｅ　ｇｅｎｅｒａｌ　ｇｕｉｄｅｌｉｎｅ　ｔｈｅ　Ｒａｎｄ　ｒｅｓｅａｒｃｈｅｒｓ　ｓｕｇｇｅｓｔ　ａｂｏｕｔ　ｊｕｎｋ　ｆｏｏｄ　ｃｏｎｔｒｏｌ？
Ａ）Ｇｕｉｄｉｎｇ　ｐｅｏｐｌｅ　ｔｏ　ｍａｋｅ　ｒａｔｉｏｎａｌ　ｃｈｏｉｃｅｓ　ａｂｏｕｔ　ｆｏｏｄ．
Ｂ）Ｅｎｈａｎｃｉｎｇ　ｐｅｏｐｌｅｓ　ａｗａｒｅｎｅｓｓ　ｏｆ　ｔｈｅｉｒ　ｏｗｎ　ｈｅａｌｔｈ．
Ｃ）Ｂｏｒｒｏｗｉｎｇ　ｉｄｅａｓ　ｆｒｏｍ　ａｌｃｏｈｏｌ　ｃｏｎｔｒｏｌ　ｍｅａｓｕｒｅｓ．
Ｄ）Ｒｅｓｏｒｔｉｎｇ　ｔｏ　ｅｃｏｎｏｍｉｃ，ｌｅｇａｌ　ａｎｄ　ｐｓｙｃｈｏｌｏｇｉｃａｌ　ｍｅａｎｓ．

Ｐａｓｓａｇｅ　Ｔｗｏ
Ｑｕｅｓｔｉｏｎｓ　６２ｔｏ　６６ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｆｏｌｌｏｗｉｎｇ　ｐａｓｓａｇｅ．
Ｋｏｄａｋｓ　ｄｅｃｉｓｉｏｎ　ｔｏ　ｆｉｌｅ　ｆｏｒ　ｂａｎｋｒｕｐｔｃｙ（破产）ｐｒｏｔｅｃｔｉｏｎ　ｉｓ　ａ　ｓａｄ，ｔｈｏｕｇｈ　ｎｏｔ　ｕｎｅｘｐｅｃｔｅｄ，ｔｕｒｎｉｎｇ

ｐｏｉｎｔ　ｆｏｒ　ａ　ｌｅａｄｉｎｇ　Ａｍｅｒｉｃａｎ　ｃｏｒｐｏｒａｔｉｏｎ　ｔｈａｔ　ｐｉｏｎｅｅｒｅｄ　ｃｏｎｓｕｍｅｒ　ｐｈｏｔｏｇｒａｐｈｙ　ａｎｄ　ｄｏｍｉｎａｔｅｄ　ｔｈｅ　ｆｉｌｍ
ｍａｒｋｅｔ　ｆｏｒ　ｄｅｃａｄｅｓ，ｂｕｔ　ｕｌｔｉｍａｔｅｌｙ　ｆａｉｌｅｄ　ｔｏ　ａｄａｐｔ　ｔｏ　ｔｈｅ　ｄｉｇｉｔａｌ　ｒｅｖｏｌｕｔｉｏｎ．

Ａｌｔｈｏｕｇｈ　ｍａｎｙ　ａｔｔｒｉｂｕｔｅ　Ｋｏｄａｋｓ　ｄｏｗｎｆａｌｌ　ｔｏ“ｃｏｍｐｌａｃｅｎｃｙ（自满），”ｔｈａｔ　ｅｘｐｌａｎａｔｉｏｎ　ｄｏｅｓｎｔ　ａｃ－
ｋｎｏｗｌｅｄｇｅ　ｔｈｅ　ｌｅｎｇｔｈｓ　ｔｏ　ｗｈｉｃｈ　ｔｈｅ　ｃｏｍｐａｎｙ　ｗｅｎｔ　ｔｏ　ｒｅｉｎｖｅｎｔ　ｉｔｓｅｌｆ．Ｄｅｃａｄｅｓ　ａｇｏ，Ｋｏｄａｋ　ａｎｔｉｃｉｐａｔｅｄ
ｔｈａｔ　ｄｉｇｉｔａｌ　ｐｈｏｔｏｇｒａｐｈｙ　ｗｏｕｌｄ　ｏｖｅｒｔａｋｅ　ｆｉｌｍ —ａｎｄ　ｉｎ　ｆａｃｔ，Ｋｏｄａｋ　ｉｎｖｅｎｔｅｄ　ｔｈｅ　ｆｉｒｓｔ　ｄｉｇｉｔａｌ　ｃａｍｅｒａ　ｉｎ
１９７５—ｂｕｔ　ｉｎ　ａ　ｆａｔｅｆｕｌ　ｄｅｃｉｓｉｏｎ，ｔｈｅ　ｃｏｍｐａｎｙ　ｃｈｏｓｅ　ｔｏ　ｓｈｅｌｆ　ｉｔｓ　ｎｅｗ　ｄｉｓｃｏｖｅｒｙ　ｔｏ　ｆｏｃｕｓ　ｏｎ　ｉｔｓ　ｔｒａｄｉｔｉｏｎａｌ
ｆｉｌｍ　ｂｕｓｉｎｅｓｓ．

Ｉｔ　ｗａｓｎｔ　ｔｈａｔ　Ｋｏｄａｋ　ｗａｓ　ｂｌｉｎｄ　ｔｏ　ｔｈｅ　ｆｕｔｕｒｅ，ｓａｉｄ　Ｒｅｂｅｃｃａ　Ｈｅｎｄｅｒｓｏｎ，ａｐｒｏｆｅｓｓｏｒ　ａｔ　Ｈａｒｖａｒｄ　Ｂｕｓ－
ｉｎｅｓｓ　Ｓｃｈｏｏｌ，ｂｕｔ　ｒａｔｈｅｒ　ｔｈａｔ　ｉｔ　ｆａｉｌｅｄ　ｔｏ　ｅｘｅｃｕｔｅ　ｏｎ　ａ　ｓｔｒａｔｅｇｙ　ｔｏ　ｃｏｎｆｒｏｎｔ　ｉｔ．Ｂｙ　ｔｈｅ　ｔｉｍｅ　ｔｈｅ　ｃｏｍｐａｎｙ　ｒｅ－
ａｌｉｚｅｄ　ｉｔｓ　ｍｉｓｔａｋｅ，ｉｔ　ｗａｓ　ｔｏｏ　ｌａｔｅ．

Ｋｏｄａｋ　ｉｓ　ａｎ　ｅｘａｍｐｌｅ　ｏｆ　ａ　ｆｉｒｍ　ｔｈａｔ　ｗａｓ　ｖｅｒｙ　ｍｕｃｈ　ａｗａｒｅ　ｔｈａｔ　ｔｈｅｙ　ｈａｄ　ｔｏ　ａｄａｐｔ，ａｎｄ　ｓｐｅｎｔ　ａ　ｌｏｔ　ｏｆ
ｍｏｎｅｙ　ｔｒｙｉｎｇ　ｔｏ　ｄｏ　ｓｏ，ｂｕｔ　ｕｌｔｉｍａｔｅｌｙ　ｆａｉｌｅｄ．Ｌａｒｇｅ　ｃｏｍｐａｎｉｅｓ　ｈａｖｅ　ａ　ｄｉｆｆｉｃｕｌｔ　ｔｉｍｅ　ｓｗｉｔｃｈｉｎｇ　ｉｎｔｏ　ｎｅｗ
ｍａｒｋｅｔｓ　ｂｅｃａｕｓｅ　ｔｈｅｒｅ　ｉｓ　ａ　ｔｅｍｐｔａｔｉｏｎ　ｔｏ　ｐｕｔ　ｅｘｉｓｔｉｎｇ　ａｓｓｅｔｓ　ｉｎｔｏ　ｔｈｅ　ｎｅｗ　ｂｕｓｉｎｅｓｓｅｓ．

Ａｌｔｈｏｕｇｈ　Ｋｏｄａｋ　ａｎｔｉｃｉｐａｔｅｄ　ｔｈｅ　ｉｎｅｖｉｔａｂｌｅ　ｒｉｓｅ　ｏｆ　ｄｉｇｉｔａｌ　ｐｈｏｔｏｇｒａｐｈｙ，ｉｔｓ　ｃｏｒｐｏｒａｔｅ（企业的）ｃｕｌ－
ｔｕｒｅ　ｗａｓ　ｔｏｏ　ｒｏｏｔｅｄ　ｉｎ　ｔｈｅ　ｓｕｃｃｅｓｓｅｓ　ｏｆ　ｔｈｅ　ｐａｓｔ　ｆｏｒ　ｉｔ　ｔｏ　ｍａｋｅ　ｔｈｅ　ｃｌｅａｎ　ｂｒｅａｋ　ｎｅｃｅｓｓａｒｙ　ｔｏ　ｆｕｌｌｙ　ｅｍｂｒａｃｅ
ｔｈｅ　ｆｕｔｕｒｅ．Ｔｈｅｙ　ｗｅｒｅ　ａ　ｃｏｍｐａｎｙ　ｓｔｕｃｋ　ｉｎ　ｔｉｍｅ．Ｔｈｅｉｒ　ｈｉｓｔｏｒｙ　ｗａｓ　ｓｏ　ｉｍｐｏｒｔａｎｔ　ｔｏ　ｔｈｅｍ．Ｎｏｗ　ｔｈｅｉｒ　ｈｉｓｔｏ－
ｒｙ　ｈａｓ　ｂｅｃｏｍｅ　ａ　ｌｉａｂｉｌｉｔｙ．

Ｋｏｄａｋｓ　ｄｏｗｎｆａｌｌ　ｏｖｅｒ　ｔｈｅ　ｌａｓｔ　ｓｅｖｅｒａｌ　ｄｅｃａｄｅｓ　ｗａｓ　ｄｒａｍａｔｉｃ．Ｉｎ　１９７６，ｔｈｅ　ｃｏｍｐａｎｙ　ｃｏｍｍａｎｄｅｄ
９０％ｏｆ　ｔｈｅ　ｍａｒｋｅｔ　ｆｏｒ　ｐｈｏｔｏｇｒａｐｈｉｃ　ｆｉｌｍ　ａｎｄ　８５％ｏｆ　ｔｈｅ　ｍａｒｋｅｔ　ｆｏｒ　ｃａｍｅｒａｓ．Ｂｕｔ　ｔｈｅ　１９８０ｓｂｒｏｕｇｈｔ　ｎｅｗ
ｃｏｍｐｅｔｉｔｉｏｎ　ｆｒｏｍ　Ｊａｐａｎｅｓｅ　ｆｉｌｍ　ｃｏｍｐａｎｙ　Ｆｕｊｉ　Ｐｈｏｔｏ，ｗｈｉｃｈ　ｕｎｄｅｒｍｉｎｅｄ　Ｋｏｄａｋ　ｂｙ　ｏｆｆｅｒｉｎｇ　ｌｏｗｅｒ　ｐｒｉｃｅｓ
ｆｏｒ　ｆｉｌｍ　ａｎｄ　ｐｈｏｔｏ　ｓｕｐｐｌｉｅｓ．Ｋｏｄａｋｓ　ｄｅｃｉｓｉｏｎ　ｎｏｔ　ｔｏ　ｐｕｒｓｕｅ　ｔｈｅ　ｒｏｌｅ　ｏｆ　ｏｆｆｉｃｉａｌ　ｆｉｌｍ　ｆｏｒ　ｔｈｅ　１９８４Ｌｏｓ　Ａｎ－
ｇｅｌｅｓ　Ｏｌｙｍｐｉｃｓ　ｗａｓ　ａ　ｍａｊｏｒ　ｍｉｓｃａｌｃｕｌａｔｉｏｎ．Ｔｈｅ　ｂｉｄ　ｗｅｎｔ　ｉｎｓｔｅａｄ　ｔｏ　Ｆｕｊｉ，ｗｈｉｃｈ　ｅｘｐｌｏｉｔｅｄ　ｉｔｓ　ｓｐｏｎｓｏｒｓｈｉｐ
ｔｏ　ｗｉｎ　ａ　ｐｅｒｍａｎｅｎｔ　ｆｏｏｔｈｏｌｄ　ｉｎ　ｔｈｅ　ｍａｒｋｅｔｐｌａｃｅ．

６２．Ｗｈａｔ　ｄｏ　ｗｅ　ｌｅａｒｎ　ａｂｏｕｔ　Ｋｏｄａｋ？
Ａ）Ｉｔ　ｗｅｎｔ　ｂａｎｋｒｕｐｔ　ａｌｌ　ｏｆ　ａ　ｓｕｄｄｅｎ．
Ｂ）Ｉｔ　ｉｓ　ａｐｐｒｏａｃｈｉｎｇ　ｉｔｓ　ｄｏｗｎｆａｌｌ．
Ｃ）Ｉｔ　ｉｎｉｔｉａｔｅｄ　ｔｈｅ　ｄｉｇｉｔａｌ　ｒｅｖｏｌｕｔｉｏｎ　ｉｎ　ｔｈｅ　ｆｉｌｍ　ｉｎｄｕｓｔｒｙ．
Ｄ）Ｉｔ　ｉｓ　ｐｌａｙｉｎｇ　ａ　ｄｏｍｉｎａｎｔ　ｒｏｌｅ　ｉｎ　ｔｈｅ　ｆｉｌｍ　ｍａｒｋｅｔ．

６３．Ｗｈｙ　ｄｏｅｓ　ｔｈｅ　ａｕｔｈｏｒ　ｍｅｎｔｉｏｎ　Ｋｏｄａｋｓ　ｉｎｖｅｎｔｉｏｎ　ｏｆ　ｔｈｅ　ｆｉｒｓｔ　ｄｉｇｉｔａｌ　ｃａｍｅｒａ？
Ａ）Ｔｏ　ｓｈｏｗ　ｉｔｓ　ｅａｒｌｙ　ａｔｔｅｍｐｔ　ｔｏ　ｒｅｉｎｖｅｎｔ　ｉｔｓｅｌｆ．
Ｂ）Ｔｏ　ｓｈｏｗ　ｉｔｓ　ｅｆｆｏｒｔ　ｔｏ　ｏｖｅｒｃｏｍｅ　ｃｏｍｐｌａｃｅｎｃｙ．



ＣＥＴ－４新题型试卷（一）　第８　　　　页（共８页）

Ｃ）Ｔｏ　ｓｈｏｗ　ｉｔｓ　ｑｕｉｃｋ　ａｄａｐｔａｔｉｏｎ　ｔｏ　ｔｈｅ　ｄｉｇｉｔａｌ　ｒｅｖｏｌｕｔｉｏｎ．
Ｄ）Ｔｏ　ｓｈｏｗ　ｉｔｓ　ｗｉｌｌ　ｔｏ　ｃｏｍｐｅｔｅ　ｗｉｔｈ　Ｊａｐａｎｓ　Ｆｕｊｉ　ｐｈｏｔｏ．

６４．Ｗｈｙ　ｄｏ　ｌａｒｇｅ　ｃｏｍｐａｎｉｅｓ　ｈａｖｅ　ｄｉｆｆｉｃｕｌｔｙ　ｓｗｉｔｃｈｉｎｇ　ｔｏ　ｎｅｗ　ｍａｒｋｅｔｓ？
Ａ）Ｔｈｅｙ　ｆｉｎｄ　ｉｔ　ｃｏｓｔｌｙ　ｔｏ　ｇｉｖｅ　ｕｐ　ｔｈｅｉｒ　ｅｘｉｓｔｉｎｇ　ａｓｓｅｔｓ．
Ｂ）Ｔｈｅｙ　ｔｅｎｄ　ｔｏ　ｂｅ　ｓｌｏｗ　ｉｎ　ｃｏｎｆｒｏｎｔｉｎｇ　ｎｅｗ　ｃｈａｌｌｅｎｇｅｓ．
Ｃ）Ｔｈｅｙ　ａｒｅ　ｕｎｗｉｌｌｉｎｇ　ｔｏ　ｉｎｖｅｓｔ　ｉｎ　ｎｅｗ　ｔｅｃｈｎｏｌｏｇｙ．
Ｄ）Ｔｈｅｙ　ａｒｅ　ｄｅｅｐｌｙ　ｓｔｕｃｋ　ｉｎ　ｔｈｅｉｒ　ｇｌｏｒｉｏｕｓ　ｐａｓｔ．

６５．Ｗｈａｔ　ｄｏｅｓ　ｔｈｅ　ａｕｔｈｏｒ　ｓａｙ　Ｋｏｄａｋｓ　ｈｉｓｔｏｒｙ　ｈａｓ　ｂｅｃｏｍｅ？
Ａ）Ａ　ｂｕｒｄｅｎ． Ｂ）Ａ　ｍｉｒｒｏｒ．
Ｃ）Ａ　ｊｏｋｅ． Ｄ）Ａ　ｃｈａｌｌｅｎｇｅ．

６６．Ｗｈａｔ　ｗａｓ　Ｋｏｄａｋｓ　ｆａｔａｌ　ｍｉｓｔａｋｅ？
Ａ）Ｉｔｓ　ｂｌｉｎｄ　ｆａｉｔｈ　ｉｎ　ｔｒａｄｉｔｉｏｎａｌ　ｐｈｏｔｏｇｒａｐｈｙ．
Ｂ）Ｉｔｓ　ｆａｉｌｕｒｅ　ｔｏ　ｓｅｅ　Ｆｕｊｉ　ｐｈｏｔｏｓ　ｅｍｅｒｇｅｎｃｅ．
Ｃ）Ｉｔｓ　ｒｅｆｕｓａｌ　ｔｏ　ｓｐｏｎｓｏｒ　ｔｈｅ　１９８４Ｏｌｙｍｐｉｃｓ．
Ｄ）Ｉｔｓ　ｏｖｅｒｃｏｎｆｉｄｅｎｃｅ　ｉｎ　ｉｔｓ　ｃｏｒｐｏｒａｔｅ　ｃｕｌｔｕｒｅ．

ＰａｒｔⅤ Ｔｒａｎｓｌａｔｉｏｎ（３０ｍｉｎｕｔｅｓ）

Ｄｉｒｅｃｔｉｏｎｓ：Ｆｏｒ　ｔｈｉｓ　ｐａｒｔ，ｙｏｕ　ａｒｅ　ａｌｌｏｗｅｄ３０　ｍｉｎｕｔｅｓ　ｔｏ　ｔｒａｎｓｌａｔｅ　ａ　ｐａｓｓａｇｅ　ｆｒｏｍ　Ｃｈｉｎｅｓｅ　ｉｎｔｏ　Ｅｎｇ－
ｌｉｓｈ．Ｙｏｕ　ｓｈｏｕｌｄ　ｗｒｉｔｅ　ｙｏｕｒ　ａｎｓｗｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　２．

没有人能避免受广告的影响。尽管我们可以自夸自己的鉴赏力如何敏锐，但我们已经无法独立自主
地选购自己所需的东西了。这是因为广告在我们身上施加着一种潜移默化的影响。做广告的人在力图
劝说我们买下这种产品或那种产品之前，已经仔细地研究了人的本性，并把人的弱点进行了分类。做广
告的人们多年前就发现我们大家都喜欢免费得到东西。
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ＣＥＴ－４新题型试卷（二）

ＰａｒｔⅠ Ｗｒｉｔｉｎｇ（３０ｍｉｎｕｔｅｓ）

Ｄｉｒｅｃｔｉｏｎｓ：Ｆｏｒ　ｔｈｉｓ　ｐａｒｔ，ｙｏｕ　ａｒｅ　ａｌｌｏｗｅｄ３０　ｍｉｎｕｔｅｓ　ｔｏ　ｗｒｉｔｅ　ａ　ｓｈｏｒｔ　ｅｓｓａｙ　ｅｎｔｉｔｌｅｄ　Ｅｄｕｃａｔｉｏｎ　Ｐａｙｓ
ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｓｔａｔｉｓｔｉｃｓ　ｐｒｏｖｉｄｅｄ　ｉｎ　ｔｈｅ　ｃｈａｒｔ　ｂｅｌｏｗ （ｕｎｅｍｐｌｏｙｍｅｎｔ　ｒａｔｅ　ｉｎ　２０１０）．Ｐｌｅａｓｅ　ｇｉｖｅ　ａ　ｂｒｉｅｆ　ｄｅ－
ｓｃｒｉｐｔｉｏｎ　ｏｆ　ｔｈｅ　ｃｈａｒｔ　ｆｉｒｓｔ　ａｎｄ　ｔｈｅｎ　ｍａｋｅ　ｃｏｍｍｅｎｔｓ　ｏｎ　ｉｔ．Ｙｏｕ　ｓｈｏｕｌｄ　ｗｒｉｔｅ　ａｔ　ｌｅａｓｔ　１２０　ｗｏｒｄｓ　ｂｕｔ　ｎｏ
ｍｏｒｅ　ｔｈａｎ　１８０　ｗｏｒｄｓ．Ｗｒｉｔｅ　ｙｏｕｒ　ａｎｓｗｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　１．

Ｅｄｕｃａｔｉｏｎ：Ａ　Ｗｏｒｔｈｙ　Ｉｎｖｅｓｔｍｅｎｔ

ＰａｒｔⅡ Ｒｅａｄｉｎｇ　Ｃｏｍｐｒｅｈｅｎｓｉｏｎ（Ｓｋｉｍｍｉｎｇ　ａｎｄ　Ｓｃａｎｎｉｎｇ）（１５ｍｉｎｕｔｅｓ）

Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ，ｙｏｕ　ａｒｅ　ｇｏｉｎｇ　ｔｏ　ｒｅａｄ　ａ　ｐａｓｓａｇｅ　ｗｉｔｈ　ｔｅｎ　ｓｔａｔｅｍｅｎｔｓ　ａｔｔａｃｈｅｄ　ｔｏ　ｉｔ．Ｅａｃｈ
ｓｔａｔｅｍｅｎｔ　ｃｏｎｔａｉｎｓ　ｉｎｆｏｒｍａｔｉｏｎ　ｇｉｖｅｎ　ｉｎ　ｏｎｅ　ｏｆ　ｔｈｅ　ｐａｒａｇｒａｐｈｓ．Ｉｄｅｎｔｉｆｙ　ｔｈｅ　ｐａｒａｇｒａｐｈ　ｆｒｏｍ　ｗｈｉｃｈ
ｔｈｅ　ｉｎｆｏｒｍａｔｉｏｎ　ｉｓ　ｄｅｒｉｖｅｄ．Ｙｏｕ　ｍａｙ　ｃｈｏｏｓｅ　ａ　ｐａｒａｇｒａｐｈ　ｍｏｒｅ　ｔｈａｎ　ｏｎｃｅ．Ｅａｃｈ　ｐａｒａｇｒａｐｈ　ｉｓ　ｍａｒｋｅｄ
ｗｉｔｈ　ａ　ｌｅｔｔｅｒ．Ａｎｓｗｅｒ　ｔｈｅ　ｑｕｅｓｔｉｏｎｓ　ｂｙ　ｍａｒｋｉｎｇ　ｔｈｅ　ｃｏｒｒｅｓｐｏｎｄｉｎｇ　ｌｅｔｔｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　２．

Ｔｈｅ　Ｍａｇｉｃｉａｎ

Ｔｈｅ　ｒｅｖｏｌｕｔｉｏｎ　ｔｈａｔ　Ｓｔｅｖｅ　Ｊｏｂｓ　ｌｅｄ　ｉｓ　ｏｎｌｙ　ｊｕｓｔ　ｂｅｇｉｎｎｉｎｇ
Ａ）Ｗｈｅｎ　ｉｔ　ｃａｍｅ　ｔｏ　ｐｕｔｔｉｎｇ　ｏｎ　ａ　ｓｈｏｗ，ｎｏｂｏｄｙ　ｅｌｓｅ　ｉｎ　ｔｈｅ　ｃｏｍｐｕｔｅｒ　ｉｎｄｕｓｔｒｙ，ｏｒ　ａｎｙ　ｏｔｈｅｒ　ｉｎｄｕｓｔｒｙ
ｆｏｒ　ｔｈａｔ　ｍａｔｔｅｒ，ｃｏｕｌｄ　ｍａｔｃｈ　Ｓｔｅｖｅ　Ｊｏｂｓ．Ｈｉｓ　ｐｒｏｄｕｃｔ　ｌａｕｎｃｈｅｓ，ａｔ　ｗｈｉｃｈ　ｈｅ　ｗｏｕｌｄ　ｓｔａｎｄ　ａｌｏｎｅ　ｏｎ
ａ　ｂｌａｃｋ　ｓｔａｇｅ　ａｎｄ　ｐｒｏｄｕｃｅ　ａｓ　ｉｆ　ｂｙ　ｍａｇｉｃ　ａｎ“ｉｎｃｒｅｄｉｂｌｅ”ｎｅｗ　ｅｌｅｃｔｒｏｎｉｃ　ｇａｄｇｅｔ（小器具）ｉｎ　ｆｒｏｎｔ
ｏｆ　ａｎ　ａｍａｚｅｄ　ｃｒｏｗｄ，ｗｅｒｅ　ｔｈｅ　ｐｅｒｆｏｒｍａｎｃｅｓ　ｏｆ　ａ　ｍａｓｔｅｒ　ｓｈｏｗｍａｎ．Ａｌｌ　ｃｏｍｐｕｔｅｒｓ　ｄｏ　ｉｓ　ｆｅｔｃｈ　ａｎｄ
ｗｏｒｋ　ｗｉｔｈ　ｎｕｍｂｅｒｓ，ｈｅ　ｏｎｃｅ　ｅｘｐｌａｉｎｅｄ，ｂｕｔ　ｄｏ　ｉｔ　ｆａｓｔ　ｅｎｏｕｇｈ　ａｎｄ“ｔｈｅ　ｒｅｓｕｌｔｓ　ａｐｐｅａｒ　ｔｏ　ｂｅ　ｍａｇ－
ｉｃ”．Ｍｒ　Ｊｏｂｓ，ｗｈｏ　ｄｉｅｄ　ｒｅｃｅｎｔｌｙ　ａｇｅｄ　５６，ｓｐｅｎｔ　ｈｉｓ　ｌｉｆｅ　ｐａｃｋａｇｉｎｇ　ｔｈａｔ　ｍａｇｉｃ　ｉｎｔｏ　ｅｌｅｇａｎｔｌｙ　ｄｅ－
ｓｉｇｎｅｄ，ｅａｓｙ－ｔｏ－ｕｓｅ　ｐｒｏｄｕｃｔｓ．

Ｂ）Ｔｈｅ　ｒｅａｃｔｉｏｎ　ｔｏ　ｈｉｓ　ｄｅａｔｈ，ｗｉｔｈ　ｐｅｏｐｌｅ　ｌｅａｖｉｎｇ　ｃａｎｄｌｅｓ　ａｎｄ　ｆｌｏｗｅｒｓ　ｏｕｔｓｉｄｅ　Ａｐｐｌｅ　ｓｔｏｒｅｓ　ａｎｄ　ｐｏｌｉ－
ｔｉｃｉａｎｓ　ｓｉｎｇｉｎｇ　ｐｒａｉｓｅｓ　ｏｎ　ｔｈｅ　ｉｎｔｅｒｎｅｔ，ｉｓ　ｐｒｏｏｆ　ｔｈａｔ　Ｍｒ　Ｊｏｂｓ　ｈａｄ　ｂｅｃｏｍｅ　ｓｏｍｅｔｈｉｎｇ　ｍｕｃｈ　ｍｏｒｅ
ｓｉｇｎｉｆｉｃａｎｔ　ｔｈａｎ　ｊｕｓｔ　ａ　ｃｌｅｖｅｒ　ｍｏｎｅｙ－ｍａｋｅｒ．Ｈｅ　ｓｔｏｏｄ　ｏｕｔ　ｉｎ　ｔｈｒｅｅ　ｗａｙｓ－ａｓ　ａ　ｔｅｃｈｎｏｌｏｇｉｓｔ，ａｓ　ａ
ｃｏｒｐｏｒａｔｅ（公司的）ｌｅａｄｅｒ　ａｎｄ　ａｓ　ｓｏｍｅｂｏｄｙ　ｗｈｏ　ｗａｓ　ａｂｌｅ　ｔｏ　ｍａｋｅ　ｐｅｏｐｌｅ　ｌｏｖｅ　ｗｈａｔ　ｈａｄ　ｐｒｅｖｉ－
ｏｕｓｌｙ　ｂｅｅｎ　ｉｍｐｅｒｓｏｎａｌ，ｆｕｎｃｔｉｏｎａｌ　ｇａｄｇｅｔｓ．Ｓｔｒａｎｇｅｌｙ，ｉｔ　ｉｓ　ｔｈｉｓ　ｌａｓｔ　ｑｕａｌｉｔｙ　ｔｈａｔ　ｍａｙ　ｈａｖｅ　ｔｈｅ
ｄｅｅｐｅｓｔ　ｅｆｆｅｃｔ　ｏｎ　ｔｈｅ　ｗａｙ　ｐｅｏｐｌｅ　ｌｉｖｅ．Ｔｈｅ　ｅｒａ　ｏｆ　ｐｅｒｓｏｎａｌ　ｔｅｃｈｎｏｌｏｇｙ　ｉｓ　ｉｎ　ｍａｎｙ　ｗａｙｓ　ｊｕｓｔ　ｂｅｇｉｎ－
ｎｉｎｇ．

Ｃ）Ａｓ　ａ　ｔｅｃｈｎｏｌｏｇｉｓｔ，Ｍｒ　Ｊｏｂｓ　ｗａｓ　ｄｉｆｆｅｒｅｎｔ　ｂｅｃａｕｓｅ　ｈｅ　ｗａｓ　ｎｏｔ　ａｎ　ｅｎｇｉｎｅｅｒ－ａｎｄ　ｔｈａｔ　ｗａｓ　ｈｉｓ　ｇｒｅａｔ
ｓｔｒｅｎｇｔｈ．Ｉｎｓｔｅａｄ　ｈｅ　ｗａｓ　ｋｅｅｎｌｙ　ｉｎｔｅｒｅｓｔｅｄ　ｉｎ　ｐｒｏｄｕｃｔ　ｄｅｓｉｇｎ　ａｎｄ　ａｅｓｔｈｅｔｉｃｓ（美学），ａｎｄ　ｉｎ　ｍａｋ－
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ｉｎｇ　ａｄｖａｎｃｅｄ　ｔｅｃｈｎｏｌｏｇｙ　ｓｉｍｐｌｅ　ｔｏ　ｕｓｅ．Ｈｅ　ｒｅｐｅａｔｅｄｌｙ　ｔｏｏｋ　ａｎ　ｅｘｉｓｔｉｎｇ　ｂｕｔ　ｈａｌｆ－ｆｏｒｍｅｄ　ｉｄｅａ－ｔｈｅ
ｍｏｕｓｅ－ｄｒｉｖｅｎ　ｃｏｍｐｕｔｅｒ，ｔｈｅ　ｄｉｇｉｔａｌ　ｍｕｓｉｃ　ｐｌａｙｅｒ，ｔｈｅ　ｓｍａｒｔｐｈｏｎｅ，ｔｈｅ　ｔａｂｌｅｔ　ｃｏｍｐｕｔｅｒ（平板电
脑）—ａｎｄ　ｓｈｏｗｅｄ　ｔｈｅ　ｒｅｓｔ　ｏｆ　ｔｈｅ　ｉｎｄｕｓｔｒｙ　ｈｏｗ　ｔｏ　ｄｏ　ｉｔ　ｐｒｏｐｅｒｌｙ．Ｒｉｖａｌ　ｆｉｒｍｓ　ｃｏｍｐｅｔｅｄ　ｗｉｔｈ　ｅａｃｈ
ｏｔｈｅｒ　ｔｏ　ｆｏｌｌｏｗ　ｗｈｅｒｅ　ｈｅ　ｌｅｄ．Ｉｎ　ｔｈｅ　ｐｒｏｃｅｓｓ　ｈｅ　ｂｒｏｕｇｈｔ　ａｂｏｕｔ　ｇｒｅａｔ　ｃｈａｎｇｅｓ　ｉｎ　ｃｏｍｐｕｔｉｎｇ，ｍｕ－
ｓｉｃ，ｔｅｌｅｃｏｍｓ　ａｎｄ　ｔｈｅ　ｎｅｗｓ　ｂｕｓｉｎｅｓｓ　ｔｈａｔ　ｗｅｒｅ　ｐａｉｎｆｕｌ　ｆｏｒ　ｅｘｉｓｔｉｎｇ　ｆｉｒｍｓ　ｂｕｔ　ｗｅｌｃｏｍｅｄ　ｂｙ　ｍｉｌ－
ｌｉｏｎｓ　ｏｆ　ｃｏｎｓｕｍｅｒｓ．

Ｄ）Ｗｉｔｈｉｎ　ｔｈｅ　ｗｉｄｅｒ　ｂｕｓｉｎｅｓｓ　ｗｏｒｌｄ，ａ　ｍａｎ　ｗｈｏ　ｌｉｋｅｄ　ｔｏ　ｓｅｅ　ｈｉｍｓｅｌｆ　ａｓ　ａ　ｈｉｐｐｙ（嬉皮士），ｐｅｒｍａ－
ｎｅｎｔｌｙ　ｉｎ　ｒｅｖｏｌｔ　ａｇａｉｎｓｔ　ｂｉｇ　ｃｏｍｐａｎｉｅｓ，ｅｎｄｅｄ　ｕｐ　ｂｅｉｎｇ　ｈａｉｌｅｄ　ｂｙ　ｍａｎｙ　ｏｆ　ｔｈｏｓｅ　ｃｏｒｐｏｒａｔｅ　ｇｉａｎｔｓ
ａｓ　ｏｎｅ　ｏｆ　ｔｈｅ　ｇｒｅａｔｅｓｔ　ｃｈｉｅｆ　ｅｘｅｃｕｔｉｖｅｓ　ｏｆ　ｈｉｓ　ｔｉｍｅ．Ｔｈａｔ　ｗａｓ　ｐａｒｔｌｙ　ｄｕｅ　ｔｏ　ｈｉｓ　ｔａｌｅｎｔｓ：ｓｈｏｗｍａｎ－
ｓｈｉｐ，ｓｔｒａｔｅｇｉｃ　ｖｉｓｉｏｎ，ａｎ　ａｓｔｏｎｉｓｈｉｎｇ　ａｔｔｅｎｔｉｏｎ　ｔｏ　ｄｅｔａｉｌ　ａｎｄ　ａ　ｄｉｃｔａｔｏｒｉａｌ　ｍａｎａｇｅｍｅｎｔ　ｓｔｙｌｅ　ｗｈｉｃｈ
ｍａｎｙ　ｂｏｓｓｅｓ　ｍｕｓｔ　ｈａｖｅ　ｅｎｖｉｅｄ．Ｂｕｔ　ｍｏｓｔ　ｏｆ　ａｌｌ　ｉｔ　ｗａｓ　ｔｈｅ　ｅｘｔｒａｏｒｄｉｎａｒｙ　ｔｒａｊｅｃｔｏｒｙ（轨迹）ｏｆ　ｈｉｓ
ｌｉｆｅ．

Ｅ）Ｈｉｓ　ｆａｌｌ　ｆｒｏｍ　ｇｒａｃｅ　ｉｎ　ｔｈｅ　１９８０ｓ，ｆｏｌｌｏｗｅｄ　ｂｙ　ｈｉｓ　ｒｅｔｕｒｎ　ｔｏ　Ａｐｐｌｅ　ｉｎ　１９９６ａｆｔｅｒ　ａ　ｐｅｒｉｏｄ　ｉｎ　ｔｈｅ　ｗｉｌ－
ｄｅｒｎｅｓｓ，ｉｓ　ａｎ　ｉｎｓｐｉｒａｔｉｏｎ　ｔｏ　ａｎｙ　ｂｕｓｉｎｅｓｓｐｅｒｓｏｎ　ｗｈｏｓｅ　ｃａｒｅｅｒ　ｈａｓ　ｔａｋｅｎ　ａ　ｔｕｒｎ　ｆｏｒ　ｔｈｅ　ｗｏｒｓｅ．Ｔｈｅ
ｗａｙ　ｉｎ　ｗｈｉｃｈ　Ｍｒ　Ｊｏｂｓ　ｒｅｖｉｖｅｄ　ｔｈｅ　ｆａｉｌｉｎｇ　ｃｏｍｐａｎｙ　ｈｅ　ｈａｄ　ｃｏ－ｆｏｕｎｄｅｄ　ａｎｄ　ｔｕｒｎｅｄ　ｉｔ　ｉｎｔｏ　ｔｈｅ
ｗｏｒｌｄｓ　ｂｉｇｇｅｓｔ　ｔｅｃｈ　ｆｉｒｍ （ｂｉｇｇｅｒ　ｅｖｅｎ　ｔｈａｎ　Ｂｉｌｌ　Ｇａｔｅｓｓ　Ｍｉｃｒｏｓｏｆｔ，ｔｈｅ　ｃｏｍｐａｎｙ　ｔｈａｔ　ｈａｄ　ｏｕｔ－
ｓｍａｒｔｅｄ　Ａｐｐｌｅ　ｓｏ　ｄｒａｍａｔｉｃａｌｌｙ　ｉｎ　ｔｈｅ　１９８０ｓ），ｓｏｕｎｄｓ　ｌｉｋｅ　ｓｏｍｅｔｈｉｎｇ　ｆｒｏｍ　ａ　Ｈｏｌｌｙｗｏｏｄ　ｍｏｖｉｅ．

Ｆ）Ｂｕｔ　ｗｈａｔ　ｗａｓ　ｐｅｒｈａｐｓ　ｍｏｓｔ　ａｓｔｏｎｉｓｈｉｎｇ　ａｂｏｕｔ　Ｍｒ　Ｊｏｂｓ　ｗａｓ　ｔｈｅ　ａｂｓｏｌｕｔｅ　ｌｏｙａｌｔｙ　ｈｅ　ｍａｎａｇｅｄ　ｔｏ　ｉｎ－
ｓｐｉｒｅ　ｉｎ　ｃｕｓｔｏｍｅｒｓ．Ｍａｎｙ　Ａｐｐｌｅ　ｕｓｅｒｓ　ｆｅｅｌ　ｔｈｅｍｓｅｌｖｅｓ　ｔｏ　ｂｅ　ｐａｒｔ　ｏｆ　ａ　ｃｏｍｍｕｎｉｔｙ，ｗｉｔｈ　Ｍｒ　Ｊｏｂｓ
ａｓ　ｉｔｓ　ｌｅａｄｅｒ．Ａｎｄ　ｔｈｅｒｅ　ｗａｓ　ｉｎｄｅｅｄ　ａ　ｐｅｒｓｏｎａｌ　ｌｉｎｋ．Ａｐｐｌｅｓ　ｐｒｏｄｕｃｔｓ　ｗｅｒｅ　ｄｅｓｉｇｎｅｄ　ｔｏ　ａｃｃｏｒｄ
ｗｉｔｈ　ｔｈｅ　ｂｏｓｓｓ　ｔａｓｔｅｓ　ａｎｄ　ｔｏ　ｍｅｅｔ　ｈｉｓ　ｅｘｔｒｅｍｅｌｙ　ｈｉｇｈ　ｓｔａｎｄａｒｄｓ．Ｅｖｅｒｙ　ｉＰｈｏｎｅ　ｏｒ　ＭａｃＢｏｏｋ　ｈａｓ
ｈｉｓ　ｆｉｎｇｅｒｐｒｉｎｔｓ　ａｌｌ　ｏｖｅｒ　ｉｔ．Ｈｉｓ　ｇｒｅａｔ　ａｃｈｉｅｖｅｍｅｎｔ　ｗａｓ　ｔｏ　ｃｏｍｂｉｎｅ　ａｎ　ｅｍｏｔｉｏｎａｌ　ｓｐａｒｋ　ｗｉｔｈ　ｃｏｍ－
ｐｕｔｅｒ　ｔｅｃｈｎｏｌｏｇｙ，ａｎｄ　ｍａｋｅ　ｔｈｅ　ｒｅｓｕｌｔｉｎｇ　ｐｒｏｄｕｃｔ　ｆｅｅｌ　ｐｅｒｓｏｎａｌ．Ａｎｄ　ｔｈａｔ　ｉｓ　ｗｈａｔ　ｐｕｔ　Ｍｒ　Ｊｏｂｓ　ｏｎ
ｔｈｅ　ｒｉｇｈｔ　ｓｉｄｅ　ｏｆ　ｈｉｓｔｏｒｙ，ａｓ　ｔｅｃｈｎｏｌｏｇｉｃａｌ　ｉｎｎｏｖａｔｉｏｎ（创新）ｈａｓ　ｍｏｖｅｄ　ｉｎｔｏ　ｃｏｎｓｕｍｅｒ　ｅｌｅｃｔｒｏｎｉｃｓ
ｏｖｅｒ　ｔｈｅ　ｐａｓｔ　ｄｅｃａｄｅ．

Ｇ）Ａｓ　ｏｕｒ　ｓｐｅｃｉａｌ　ｒｅｐｏｒｔ　ｉｎ　ｔｈｉｓ　ｉｓｓｕｅ（ｐｒｉｎｔｅｄ　ｂｅｆｏｒｅ　Ｍｒ　Ｊｏｂｓｓ　ｄｅａｔｈ）ｅｘｐｌａｉｎｓ，ｉｎｎｏｖａｔｉｏｎ　ｕｓｅｄ　ｔｏ
ｓｐｉｌｌ　ｏｖｅｒ　ｆｒｏｍ　ｍｉｌｉｔａｒｙ　ａｎｄ　ｃｏｒｐｏｒａｔｅ　ｌａｂｏｒａｔｏｒｉｅｓ　ｔｏ　ｔｈｅ　ｃｏｎｓｕｍｅｒ　ｍａｒｋｅｔ，ｂｕｔ　ｌａｔｅｌｙ　ｔｈｉｓ
ｐｒｏｃｅｓｓ　ｈａｓ　ｇｏｎｅ　ｉｎｔｏ　ｒｅｖｅｒｓｅ．Ｍａｎｙ　ｐｅｏｐｌｅｓ　ｈｏｍｅｓ　ｎｏｗ　ｈａｖｅ　ｍｏｒｅ　ｐｏｗｅｒｆｕｌ，ａｎｄ　ｍｏｒｅ　ｆｌｅｘｉｂｌｅ，
ｄｅｖｉｃｅｓ　ｔｈａｎ　ｔｈｅｉｒ　ｏｆｆｉｃｅｓ　ｄｏ；ｃｏｎｓｕｍｅｒ　ｇａｄｇｅｔｓ　ａｎｄ　ｏｎｌｉｎｅ　ｓｅｒｖｉｃｅｓ　ａｒｅ　ｓｍａｒｔｅｒ　ａｎｄ　ｅａｓｉｅｒ　ｔｏ　ｕｓｅ
ｔｈａｎ　ｍｏｓｔ　ｃｏｍｐａｎｉｅｓｓｙｓｔｅｍｓ．Ｆａｍｉｌｉａｒ　ｃｏｎｓｕｍｅｒ　ｐｒｏｄｕｃｔｓ　ａｒｅ　ｂｅｉｎｇ　ａｄｏｐｔｅｄ　ｂｙ　ｂｕｓｉｎｅｓｓｅｓ，
ｇｏｖｅｒｎｍｅｎｔ　ａｎｄ　ｔｈｅ　ａｒｍｅｄ　ｆｏｒｃｅｓ．Ｃｏｍｐａｎｉｅｓ　ａｒｅ　ｅｍｐｌｏｙｉｎｇ　ｉｎ－ｈｏｕｓｅ　ｖｅｒｓｉｏｎｓ　ｏｆ　Ｆａｃｅｂｏｏｋ　ａｎｄ
ｃｒｅａｔｉｎｇ　ｔｈｅｉｒ　ｏｗｎ“ａｐｐ　ｓｔｏｒｅｓ”ｔｏ　ｄｅｌｉｖｅｒ　ｓｏｆｔｗａｒｅ　ｔｏ　ｅｍｐｌｏｙｅｅｓ．Ｄｏｃｔｏｒｓ　ｕｓｅ　ｔａｂｌｅｔ　ｃｏｍｐｕｔｅｒｓ
ｆｏｒ　ｔｈｅｉｒ　ｗｏｒｋ　ｉｎ　ｈｏｓｐｉｔａｌｓ．Ｍｅａｎｗｈｉｌｅ，ｔｈｅ　ｎｕｍｂｅｒ　ｏｆ　ｃｏｎｓｕｍｅｒｓ　ｈｕｎｇｒｙ　ｆｏｒ　ｓｕｃｈ　ｇａｄｇｅｔｓ　ｃｏｎ－
ｔｉｎｕｅｓ　ｔｏ　ｓｗｅｌｌ．Ａｐｐｌｅｓ　ｐｒｏｄｕｃｔｓ　ａｒｅ　ｎｏｗ　ｂｅｉｎｇ　ｓｎａｐｐｅｄ　ｕｐ　ｉｎ　Ｄｅｌｈｉ　ａｎｄ　Ｄａｌｉａｎ　ｊｕｓｔ　ａｓ　ｉｎ　Ｄｕｂｌｉｎ
ａｎｄ　Ｄａｌｌａｓ．

Ｈ）Ｍｒ　Ｊｏｂｓ　ｈａｄ　ａ　ｒｅｐｕｔａｔｉｏｎ　ａｓ　ａ　ｃｏｎｔｒｏｌ　ｆｒｅａｋ（怪人），ａｎｄ　ｈｉｓ　ｃｒｉｔｉｃｓ　ｃｏｍｐｌａｉｎｅｄ　ｔｈａｔ　ｔｈｅ　ｐｒｏｄｕｃｔｓ
ａｎｄ　ｓｙｓｔｅｍｓ　ｈｅ　ｄｅｓｉｇｎｅｄ　ｗｅｒｅ　ｃｌｏｓｅｄ　ａｎｄ　ｉｎｆｌｅｘｉｂｌｅ，ｉｎ　ｔｈｅ　ｎａｍｅ　ｏｆ　ｇｒｅａｔｅｒ　ｅａｓｅ　ｏｆ　ｕｓｅ．Ｙｅｔ　ｈｅ　ａｌ－
ｓｏ　ｅｍｐｏｗｅｒｅｄ　ｍｉｌｌｉｏｎｓ　ｏｆ　ｐｅｏｐｌｅ　ｂｙ　ｇｉｖｉｎｇ　ｔｈｅｍ　ａｃｃｅｓｓ　ｔｏ　ｃｕｔｔｉｎｇ－ｅｄｇｅ　ｔｅｃｈｎｏｌｏｇｙ．Ｈｉｓ　ｉｎｓｉｓｔｅｎｃｅ
ｏｎ　ｐｕｔｔｉｎｇ　ｕｓｅｒｓ　ｆｉｒｓｔ，ａｎｄ　ｆｏｃｕｓｉｎｇ　ｏｎ　ｅｌｅｇａｎｃｅ　ａｎｄ　ｓｉｍｐｌｉｃｉｔｙ，ｈａｓ　ｂｅｃｏｍｅ　ｄｅｅｐ－ｒｏｏｔｅｄ　ｉｎ　ｈｉｓ
ｏｗｎ　ｃｏｍｐａｎｙ，ａｎｄ　ｉｓ　ｓｐｒｅａｄｉｎｇ　ｔｏ　ｒｉｖａｌ　ｆｉｒｍｓ　ｔｏｏ．Ｉｔ　ｉｓ　ｎｏ　ｌｏｎｇｅｒ　ｊｕｓｔ　ａｔ　Ａｐｐｌｅ　ｔｈａｔ　ｄｅｓｉｇｎｅｒｓ
ａｓｋ：“Ｗｈａｔ　ｗｏｕｌｄ　Ｓｔｅｖｅ　Ｊｏｂｓ　ｄｏ？”

Ｉ）Ｔｈｅ　ｇａｐ　ｂｅｔｗｅｅｎ　Ａｐｐｌｅ　ａｎｄ　ｏｔｈｅｒ　ｔｅｃｈ　ｆｉｒｍｓ　ｉｓ　ｎｏｗ　ｌｉｋｅｌｙ　ｔｏ　ｎａｒｒｏｗ．Ｔｈｉｓ　ｗｅｅｋｓ　ａｎｎｏｕｎｃｅｍｅｎｔ
ｏｆ　ａ　ｎｅｗ　ｉＰｈｏｎｅ　ｂｙ　ａ　ｍａｎａｇｅｍｅｎｔ　ｔｅａｍ　ｌｅｄ　ｂｙ　Ｔｉｍ　Ｃｏｏｋ，ｗｈｏ　ｒｅｐｌａｃｅｄ　Ｍｒ　Ｊｏｂｓ　ａｓ　ｃｈｉｅｆ　ｅｘｅｃｕ－
ｔｉｖｅ　ｉｎ　Ａｕｇｕｓｔ，ｗａｓ　ｇｅｎｅｒａｌｌｙ　ｒｅｇａｒｄｅｄ　ａｓ　ｃｏｍｐｅｔｅｎｔ　ｂｕｔ　ｕｎｉｎｓｐｉｒｉｎｇ．Ｗｉｔｈｏｕｔ　Ｍｒ　Ｊｏｂｓ　ｔｏ　ｓｈｏｗｅｒ
ｈｉｓ　ｓｔａｒ　ｄｕｓｔ　ｏｎ　ｔｈｅ　ｅｖｅｎｔ，ｉｔ　ｆｅｌｔ　ｌｉｋｅ　ｊｕｓｔ　ａｎｏｔｈｅｒ　ｐｒｏｄｕｃｔ　ｌａｕｎｃｈ　ｆｒｏｍ　ｊｕｓｔ　ａｎｏｔｈｅｒ　ｔｅｃｈｎｏｌｏｇｙ
ｆｉｒｍ．Ａｔ　ｔｈｅ　ｒｅｃｅｎｔ　ｕｎｖｅｉｌｉｎｇ　ｏｆ　ａ　ｔａｂｌｅｔ　ｃｏｍｐｕｔｅｒ　ｂｙ　Ｊｅｆｆ　Ｂｅｚｏｓ　ｏｆ　Ａｍａｚｏｎ，ｗｈｏｓｅ　ｃｏｍｐａｎｙ　ｉｓ
ｄｏｉｎｇ　ｔｈｅ　ｂｅｓｔ　ｊｏｂ　ｏｆ　ｆｏｌｌｏｗｉｎｇ　Ａｐｐｌｅｓ　ｌｅａｄ　ｉｎ　ｃｏｍｂｉｎｉｎｇ　ｈａｒｄｗａｒｅ，ｓｏｆｔｗａｒｅ，ｃｏｎｔｅｎｔ　ａｎｄ　ｓｅｒｖ－
ｉｃｅｓ　ｉｎ　ａｎ　ｅａｓｙ－ｔｏ－ｕｓｅ　ｂｕｎｄｌｅ，ｔｈｅｒｅ　ｗｅｒｅ　ｓｅｖｅｒａｌ　ａｔｔａｃｋｓ　ａｔ　Ａｐｐｌｅ．Ｂｕｔ　ｂｙ　ｄｏｉｎｇ　ｈｉｓ　ｂｅｓｔ　ｔｏ　ｉｍｉ－
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ｔａｔｅ　Ｍｒ　Ｊｏｂｓ，Ｍｒ　Ｂｅｚｏｓ　ａｌｓｏ　ｆｌａｔｔｅｒｅｄ（抬举）ｈｉｍ．Ｗｉｔｈ　Ｍｒ　Ｊｏｂｓ　ｇｏｎｅ，Ａｐｐｌｅ　ｉｓ　ｊｕｓｔ　ｏｎｅ　ｏｆ　ｍａｎｙ
ｔｅｃｈｎｏｌｏｇｙ　ｆｉｒｍｓ　ｔｒｙｉｎｇ　ｔｏ　ａｒｏｕｓｅ　ｈｉｓ　ｕｎｃｏｎｔｒｏｌｌａｂｌｅ　ｓｐｉｒｉｔ　ｉｎ　ｎｅｗ　ｐｒｏｄｕｃｔｓ．

Ｊ）Ｍｒ　Ｊｏｂｓ　ｗａｓ　ｓａｉｄ　ｂｙ　ａｎ　ｅｎｇｉｎｅｅｒ　ｉｎ　ｔｈｅ　ｅａｒｌｙ　ｙｅａｒｓ　ｏｆ　Ａｐｐｌｅ　ｔｏ　ｅｍｉｔ　ａ“ｒｅａｌｉｔｙ　ｄｉｓｔｏｒｔｉｏｎ（扭曲）
ｆｉｅｌｄ”，ｓｕｃｈ　ｗｅｒｅ　ｈｉｓ　ｐｏｗｅｒｓ　ｏｆ　ｐｅｒｓｕａｓｉｏｎ．Ｂｕｔ　ｉｎ　ｔｈｅ　ｅｎｄ　ｈｅ　ｃｒｅａｔｅｄ　ａ　ｒｅａｌｉｔｙ　ｏｆ　ｈｉｓ　ｏｗｎ，ｃｈａｎ－
ｎｅｌｉｎｇ　ｔｈｅ　ｍａｇｉｃ　ｏｆ　ｃｏｍｐｕｔｉｎｇ　ｉｎｔｏ　ｐｒｏｄｕｃｔｓ　ｔｈａｔ　ｒｅｓｈａｐｅｄ　ｅｎｔｉｒｅ　ｉｎｄｕｓｔｒｉｅｓ．Ｔｈｅ　ｍａｎ　ｗｈｏ　ｓａｉｄ　ｉｎ
ｈｉｓ　ｙｏｕｔｈ　ｔｈａｔ　ｈｅ　ｗａｎｔｅｄ　ｔｏ“ｐｕｔ　ａ　ｄｉｎｇ　ｉｎ　ｔｈｅ　ｕｎｉｖｅｒｓｅ”ｄｉｄ　ｊｕｓｔ　ｔｈａｔ．

１．Ｆｏｒ　ｔｈｏｓｅ　ｗｈｏ　ｈａｖｅ　ｓｕｆｆｅｒｅｄ　ｆａｉｌｕｒｅｓ　ｉｎ　ｂｕｓｉｎｅｓｓ，Ｓｔｅｖｅ　Ｊｏｂｓｓ　ｌｉｆｅ　ｅｘｐｅｒｉｅｎｃｅ　ｓｅｒｖｅｓ　ａｓ　ａｎ　ｉｎｓｐｉｒａ－
ｔｉｏｎ．

２．Ｔｈｅ　ｉｎｎｏｖａｔｉｏｎ　ｎｏｗａｄａｙｓ　ｏｒｉｇｉｎａｔｅｓ　ｉｎ　ｔｈｅ　ｃｏｎｓｕｍｅｒ　ｍａｒｋｅｔ　ｉｓ　ｍｅｎｔｉｏｎｅｄ　ｉｎ　ｔｈｉｓ　ｉｓｓｕｅｓ　ｓｐｅｃｉａｌ
ｒｅｐｏｒｔ．

３．Ｍａｎｙ　ｃｏｒｐｏｒａｔｅ　ｇｉａｎｔｓ　ｓａｗ　Ｓｔｅｖｅ　Ｊｏｂｓ　ａｓ　ｏｎｅ　ｏｆ　ｔｈｅ　ｇｒｅａｔｅｓｔ　ｃｈｉｅｆ　ｅｘｅｃｕｔｉｖｅｓ　ｏｆ　ｈｉｓ　ｔｉｍｅ．
４．Ｔｈｅ　ｍｏｓｔ　ａｓｔｏｎｉｓｈｉｎｇ　ｐａｒｔ　ｏｆ　Ｍｒ　Ｊｏｂｓｓ　ｓｕｃｃｅｓｓ　ｗａｓ　ｔｈａｔ　ｈｅ　ｃｏｍｍａｎｄｅｄ　ａｂｓｏｌｕｔｅ　ｌｏｙａｌｔｙ　ｆｒｏｍ
Ａｐｐｌｅ　ｕｓｅｒｓ．

５．Ｗｅ　ｌｅａｒｎ　ｆｒｏｍ　ｔｈｅ　ｐａｓｓａｇｅ　ｔｈａｔ　ｎｏｂｏｄｙ　ｃｏｕｌｄ　ｍａｔｃｈ　Ｓｔｅｖｅ　Ｊｏｂｓ　ｉｎ　ｓｈｏｗｍａｎｓｈｉｐ．
６．Ｉｎ　ｓｐｉｔｅ　ｏｆ　ｔｈｅ　ｕｓｅｒ－ｆｒｉｅｎｄｌｉｎｅｓｓ　ｏｆ　Ａｐｐｌｅ　ｐｒｏｄｕｃｔｓ，ｃｒｉｔｉｃｓ　ｃｏｍｐｌａｉｎｅｄ　ｔｈａｔ　ｔｈｅｙ　ｗｅｒｅ　ｃｌｏｓｅｄ　ａｎｄ
ｉｎｆｌｅｘｉｂｌｅ．

７．Ｂｙ　ｃｈａｎｎｅｌｌｉｎｇ　ｔｈｅ　ｍａｇｉｃ　ｏｆ　ｃｏｍｐｕｔｉｎｇ　ｉｎｔｏ　ｐｒｏｄｕｃｔｓ，Ｓｔｅｖｅ　Ｊｏｂｓ　ｈａｄ　ｓｕｃｃｅｅｄｅｄ　ｉｎ　ｒｅｓｈａｐｉｎｇ　ｅｎ－
ｔｉｒｅ　ｉｎｄｕｓｔｒｉｅｓ．

８．Ｍｒ　Ｊｏｂｓｓ　ｇｒｅａｔ　ｓｔｒｅｎｇｔｈ　ｌａｉｄ　ｏｎ　ｈｉｓ　ｋｅｅｎ　ｉｎｔｅｒｅｓｔ　ｉｎ　ｄｅｓｉｇｎｉｎｇ　ｅｌｅｇａｎｔ　ａｎｄ　ｕｓｅｒ－ｆｒｉｅｎｄｌｙ　ｇａｄｇｅｔｓ？
９．Ａｍａｚｏｎ，ｂｙ　ｈａｖｉｎｇ　ｈａｒｄｗａｒｅ，ｓｏｆｔｗａｒｅ，ｃｏｎｔｅｎｔ　ａｎｄ　ｓｅｒｖｉｃｅｓ　ｃｏｍｂｉｎｅｄ　ｉｎ　ａｎ　ｅａｓｙ－ｔｏ－ｕｓｅ　ｂｕｎｄｌｅ，
ｄｉｄ　ｔｈｅ　ｂｅｓｔ　ｊｏｂ　ｉｎ　ｆｏｌｌｏｗｉｎｇ　Ａｐｐｌｅｓ　ｌｅａｄ．

１０．Ｔｈｅ　ｊｏｂ　ｔｈａｔ　Ｓｔｅｖｅ　Ｊｏｂｓ　ｄｉｄ　ｍｏｓｔ　ｄｅｅｐｌｙ　ａｆｆｅｃｔｅｄ　ｐｅｏｐｌｅｓ　ｗａｙ　ｏｆ　ｌｉｆｅ　ｉｓ　ｔｈａｔ　ｈｅ　ｉｎｖｅｎｔｅｄ　ｌｏｔｓ　ｏｆ
ｆｕｎｃｔｉｏｎａｌ　ｇａｄｇｅｔｓ．

ＰａｒｔⅢＬｉｓｔｅｎｉｎｇ　Ｃｏｍｐｒｅｈｅｎｓｉｏｎ（３５ｍｉｎｕｔｅｓ）

Ｓｅｃｔｉｏｎ　Ａ

Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ，ｙｏｕ　ｗｉｌｌ　ｈｅａｒ　８　ｓｈｏｒｔ　ｃｏｎｖｅｒｓａｔｉｏｎｓ　ａｎｄ２　ｌｏｎｇ　ｃｏｎｖｅｒｓａｔｉｏｎｓ．Ａｔ　ｔｈｅ　ｅｎｄ
ｏｆ　ｅａｃｈ　ｃｏｎｖｅｒｓａｔｉｏｎ，ｏｎｅ　ｏｒ　ｍｏｒｅ　ｑｕｅｓｔｉｏｎｓ　ｗｉｌｌ　ｂｅ　ａｓｋｅｄ　ａｂｏｕｔ　ｗｈａｔ　ｗａｓ　ｓａｉｄ．Ｂｏｔｈ　ｔｈｅ　ｃｏｎｖｅｒｓａｔｉｏｎ
ａｎｄ　ｔｈｅ　ｑｕｅｓｔｉｏｎ　ｗｉｌｌ　ｂｅ　ｓｐｏｋｅｎ　ｏｎｌｙ　ｏｎｃｅ．Ａｆｔｅｒ　ｅａｃｈ　ｑｕｅｓｔｉｏｎ　ｔｈｅｒｅ　ｗｉｌｌ　ｂｅ　ａ　ｐａｕｓｅ．Ｄｕｒｉｎｇ　ｔｈｅ　ｐａｕｓｅ，
ｙｏｕ　ｍｕｓｔ　ｒｅａｄ　ｔｈｅ　ｆｏｕｒ　ｃｈｏｉｃｅｓ　ｍａｒｋｅｄ　Ａ），Ｂ），Ｃ）ａｎｄ　Ｄ），ａｎｄ　ｄｅｃｉｄｅ　ｗｈｉｃｈ　ｉｓ　ｔｈｅ　ｂｅｓｔ　ａｎｓｗｅｒ．Ｔｈｅｎ
ｍａｒｋ　ｔｈｅ　ｃｏｒｒｅｓｐｏｎｄｉｎｇ　ｌｅｔｔｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　２　ｗｉｔｈ　ａ　ｓｉｎｇｌｅ　ｌｉｎｅ　ｔｈｒｏｕｇｈ　ｔｈｅ　ｃｅｎｔｒｅ．

１１．Ａ）Ｈｅ　ｎｅｅｄｓ　ａｎｏｔｈｅｒ　ｗｅｅｋ　ｆｏｒ　ｔｈｅ　ｐａｉｎｔｉｎｇ．　 Ｂ）Ｔｈｅ　ｐａｉｎｔｉｎｇ　ｗａｓ　ｃｏｍｐｌｅｔｅｄ　ｊｕｓｔ　ｉｎ　ｔｉｍｅ．
Ｃ）Ｔｈｅ　ｂｕｉｌｄｉｎｇ　ｗｏｎｔ　ｏｐｅｎ　ｕｎｔｉｌ　ｎｅｘｔ　ｗｅｅｋ． Ｄ）Ｈｉｓ　ａｒｔｉｓｔｉｃ　ｗｏｒｋ　ｈａｓ　ｂｅｅｎ　ｗｅｌｌ　ｒｅｃｅｉｖｅｄ．

１２．Ａ）Ｇｏ　ｃａｍｐｉｎｇ． Ｂ）Ｄｅｃｏｒａｔｅ　ｈｉｓ　ｈｏｕｓｅ．
Ｃ）Ｒｅｎｔ　ａ　ｔｅｎｔ． Ｄ）Ｏｒｇａｎｉｚｅ　ａ　ｐａｒｔｙ．

１３．Ａ）Ｓｈｅ　ｔａｌｋｅｄ　ｗｉｔｈ　Ｍｒ．Ｗｒｉｇｈｔ　ｏｎ　ｔｈｅ　ｐｈｏｎｅ． Ｂ）Ｓｈｅ　ｉｓ　ａｂｏｕｔ　ｔｏ　ｃａｌｌ　Ｍｒ．Ｗｒｉｇｈｔｓ　ｓｅｃｒｅｔａｒｙ．
Ｃ）Ｓｈｅ　ｗｉｌｌ　ｓｅｅ　Ｍｒ．Ｗｒｉｇｈｔ　ａｔ　ｌｕｎｃｈ　ｔｉｍｅ． Ｄ）Ｓｈｅ　ｆａｉｌｅｄ　ｔｏ　ｒｅａｃｈ　Ｍｒ．Ｗｒｉｇｈｔ．

１４．Ａ）Ｈｅ　ｉｓ　ａｃｔｕａｌｌｙ　ｖｅｒｙ　ｈａｒｄｗｏｒｋｉｎｇ． Ｂ）Ｈｅ　ｈａｓ　ｄｉｆｆｉｃｕｌｔｙ　ｆｉｎｉｓｈｉｎｇ　ｈｉｓ　ｐｒｏｊｅｃｔ．
Ｃ）Ｈｅ　ｎｅｅｄｓ　ｔｏ　ｓｐｅｎｄ　ｍｏｒｅ　ｔｉｍｅ　ｉｎ　ｔｈｅ　ｌａｂ． Ｄ）Ｈｅ　ｓｅｌｄｏｍ　ｔｅｌｌｓ　ｔｈｅ　ｔｒｕｔｈ　ａｂｏｕｔ　ｈｉｍｓｅｌｆ．

１５．Ａ）Ｒｕｌｅｓ　ｒｅｓｔｒｉｃｔｉｎｇ　ｓｍｏｋｉｎｇ． Ｂ）Ｗａｙｓ　ｔｏ　ｑｕｉｔ　ｓｍｏｋｉｎｇ．
Ｃ）Ｓｍｏｋｅｒｓｈｅａｌｔｈ　ｐｒｏｂｌｅｍｓ． Ｄ）Ｈａｚａｒｄｓ　ｏｆ　ｐａｓｓｉｖｅ　ｓｍｏｋｉｎｇ．

１６．Ａ）Ｈｅ　ｉｓ　ｏｕｔ　ｏｆ　ｔｏｗｎ　ａｌｌ　ｍｏｒｎｉｎｇ． Ｂ）Ｈｅ　ｉｓ　ｔｉｅｄ　ｕｐ　ｉｎ　ｆａｍｉｌｙ　ｍａｔｔｅｒｓ．
Ｃ）Ｈｅ　ｈａｓ　ｂｅｅｎ　ｗｒｉｔｉｎｇ　ａ　ｒｅｐｏｒｔ． Ｄ）Ｈｅ　ｈａｓ　ｇｏｔ　ｍｅｅｔｉｎｇｓ　ｔｏ　ａｔｔｅｎｄ．

１７．Ａ）Ｈｅ　ｉｓ　ｎｏｔ　ｅａｓｙ－ｇｏｉｎｇ． Ｂ）Ｈｅ　ｉｓ　ｔｈｅ　ｓｐｅａｋｅｒｓｂｏｓｓ．
Ｃ）Ｈｅ　ｉｓ　ｎｏｔ　ａｔ　ｈｏｍｅ　ｔｈｉｓ　ｗｅｅｋｅｎｄ． Ｄ）Ｈｅ　ｓｅｌｄｏｍ　ｉｎｖｉｔｅｓ　ｐｅｏｐｌｅ　ｔｏ　ｈｉｓ　ｈｏｍｅ．

１８．Ａ）Ｔａｋｅ　ａ　ｂｒｅａｋ． Ｂ）Ｒｅｆｕｅｌ　ｈｉｓ　ｃａｒ．
Ｃ）Ａｓｋ　ｔｈｅ　ｗａｙ． Ｄ）Ｈａｖｅ　ａ　ｃｕｐ　ｏｆ　ｃｏｆｆｅｅ．
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Ｑｕｅｓｔｉｏｎｓ　１９ｔｏ　２１ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｃｏｎｖｅｒｓａｔｉｏｎ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
１９．Ａ）Ｔｈｅｙ　ａｒｅ　ａｓ　ｇｏｏｄ　ａｓ　ｈｉｓｔｏｒｉｃａｌ　ｆｉｌｍｓ． Ｂ）Ｔｈｅｙ　ｇｉｖｅ　ｙｏｕｎｇｓｔｅｒｓ　ａ　ｔｈｒｉｌｌ．
Ｃ）Ｔｈｅｙ　ｈａｖｅ　ｇｒｅａｔｌｙ　ｉｍｐｒｏｖｅｄ． Ｄ）Ｔｈｅｙ　ａｒｅ　ｂｅｔｔｅｒ　ｔｈａｎ　ｃｏｍｉｃｓ　ｏｎ　ｆｉｌｍ．

２０．Ａ）Ｔｈｅ　ｅｆｆｅｃｔｓ　ｗｅｒｅ　ｖｅｒｙ　ｇｏｏｄ． Ｂ）Ｔｈｅ　ａｃｔｉｎｇ　ｗａｓ　ｊｕｓｔ　ｓｏ－ｓｏ．
Ｃ）Ｔｈｅ　ｐｌｏｔ　ｗａｓ　ｔｏｏ　ｃｏｍｐｌｉｃａｔｅｄ． Ｄ）Ｔｈｅ　ｃｈａｒａｃｔｅｒｓ　ｗｅｒｅ　ｌｉｆｅｌｉｋｅ．

２１．Ａ）Ｔｈｅｙ　ｔｒｉｕｍｐｈｅｄ　ｕｌｔｉｍａｔｅｌｙ　ｏｖｅｒ　ｅｖｉｌ　ｉｎ　ｔｈｅ　ｂａｔｔｌｅ．
Ｂ）Ｔｈｅｙ　ｐｌａｙｅｄ　ｔｈｅ　ｓａｍｅ　ｒｏｌｅ　ｉｎ　Ｗａｒ　ｏｆ　ｔｈｅ　Ｗｏｒｌｄｓ．
Ｃ）Ｔｈｅｙ　ａｒｅ　ｐｏｐｕｌａｒ　ｆｉｇｕｒｅｓ　ａｍｏｎｇ　ｙｏｕｎｇ　ｐｅｏｐｌｅ．
Ｄ）Ｔｈｅｙ　ａｒｅ　ｔｗｏ　ｌｅａｄｉｎｇ　ｃｈａｒａｃｔｅｒｓ　ｉｎ　ｔｈｅ　ｆｉｌｍ．

Ｑｕｅｓｔｉｏｎｓ　２２ｔｏ　２５ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｃｏｎｖｅｒｓａｔｉｏｎ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
２２．Ａ）Ｉｔ　ｉｓ　ｓｃｈｅｄｕｌｅｄ　ｏｎ　Ｔｈｕｒｓｄａｙ　ｎｉｇｈｔ． Ｂ）Ｉｔ　ｉｓ　ｓｕｐｐｏｓｅｄ　ｔｏ　ｌａｓｔ　ｎｉｎｅ　ｗｅｅｋｓ．
Ｃ）Ｉｔ　ｔａｋｅｓ　ｐｌａｃｅ　ｏｎｃｅ　ａ　ｗｅｅｋ． Ｄ）Ｉｔ　ｕｓｕａｌｌｙ　ｓｔａｒｔｓ　ａｔ　ｓｉｘ．

２３．Ａ）Ｔｏ　ｍａｋｅ　ｇｏｏｄ　ｕｓｅ　ｏｆ　ｈｅｒ　ｓｐａｒｅ　ｔｉｍｅ　ｉｎ　ｔｈｅ　ｅｖｅｎｉｎｇ．
Ｂ）Ｔｏ　ｍｅｅｔ　ｔｈｅ　ｒｅｑｕｉｒｅｍｅｎｔｓ　ｏｆ　ｈｅｒ　ｉｎ－ｓｅｒｖｉｃｅ　ｔｒａｉｎｉｎｇ．
Ｃ）Ｔｏ　ｉｍｐｒｏｖｅ　ｈｅｒ　ｄｒｉｖｉｎｇ　ｓｋｉｌｌｓ　ａｓ　ｑｕｉｃｋｌｙ　ａｓ　ｐｏｓｓｉｂｌｅ．
Ｄ）Ｔｏ　ｇｅｔ　ｓｏｍｅ　ｂａｓｉｃ　ｋｎｏｗｌｅｄｇｅ　ａｂｏｕｔ　ｃａｒ　ｍａｉｎｔｅｎａｎｃｅ．

２４．Ａ）Ｐａｒｔｉｃｉｐａｔｅ　ｉｎ　ｇｒｏｕｐ　ｄｉｓｃｕｓｓｉｏｎｓ． Ｂ）Ｔａｋｅ　ｔｕｒｎｓ　ｔｏ　ｍａｋｅ　ｐｒｅｓｅｎｔａｔｉｏｎｓ．
Ｃ）Ｌｉｓｔｅｎ　ｔｏ　ｔｈｅ　ｔｅａｃｈｅｒｓ　ｅｘｐｌａｎａｔｉｏｎ． Ｄ）Ａｎｓｗｅｒ　ｔｈｅ　ｔｅａｃｈｅｒｓ　ｑｕｅｓｔｉｏｎｓ．

２５．Ａ）Ｍｏｓｔ　ｏｆ　ｔｈｅｍ　ａｒｅ　ｆｅｍａｌｅ． Ｂ）Ｓｏｍｅ　ｈａｖｅ　ａ　ｐａｒｔ－ｔｉｍｅ　ｊｏｂ．
Ｃ）Ｔｈｅｙ　ｐｌａｎ　ｔｏ　ｂｕｙ　ａ　ｎｅｗ　ｃａｒ． Ｄ）Ａ　ｆｅｗ　ｏｆ　ｔｈｅｍ　ａｒｅ　ｏｌｄ　ｃｈａｐｓ．

Ｓｅｃｔｉｏｎ　Ｂ

Ｄｉｒｅｃｔｉｏｎｓ：Ｉｎ　ｔｈｉｓ　ｓｅｃｔｉｏｎ，ｙｏｕ　ｗｉｌｌ　ｈｅａｒ　３　ｓｈｏｒｔ　ｐａｓｓａｇｅｓ．Ａｔ　ｔｈｅ　ｅｎｄ　ｏｆ　ｅａｃｈ　ｐａｓｓａｇｅ，ｙｏｕ　ｗｉｌｌ
ｈｅａｒ　ｓｏｍｅ　ｑｕｅｓｔｉｏｎｓ．Ｂｏｔｈ　ｔｈｅ　ｐａｓｓａｇｅ　ａｎｄ　ｔｈｅ　ｑｕｅｓｔｉｏｎｓ　ｗｉｌｌ　ｂｅ　ｓｐｏｋｅｎ　ｏｎｌｙ　ｏｎｃｅ．Ａｆｔｅｒ　ｙｏｕ　ｈｅａｒ　ａ　ｑｕｅｓ－
ｔｉｏｎ，ｙｏｕ　ｍｕｓｔ　ｃｈｏｏｓｅ　ｔｈｅ　ｂｅｓｔ　ａｎｓｗｅｒ　ｆｒｏｍ　ｔｈｅ　ｆｏｕｒ　ｃｈｏｉｃｅｓ　ｍａｒｋｅｄ　Ａ），Ｂ），Ｃ）ａｎｄ　Ｄ）．Ｔｈｅｎ　ｍａｒｋ　ｔｈｅ
ｃｏｒｒｅｓｐｏｎｄｉｎｇ　ｌｅｔｔｅｒ　ｏｎ　Ａｎｓｗｅｒ　Ｓｈｅｅｔ　２　ｗｉｔｈ　ａ　ｓｉｎｇｌｅ　ｌｉｎｅ　ｔｈｒｏｕｇｈ　ｔｈｅ　ｃｅｎｔｒｅ．

Ｐａｓｓａｇｅ　Ｏｎｅ
Ｑｕｅｓｔｉｏｎｓ　２６ｔｏ　２９ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
２６．Ａ）Ｓｈｅ　ｉｓ　ｎｏｔ　ｇｏｏｄ　ａｔ　ｍａｋｉｎｇ　ｆｒｉｅｎｄｓ． Ｂ）Ｓｈｅ　ｉｓ　ｎｏｔ　ｗｅｌｌ　ｏｆｆ．
Ｃ）Ｓｈｅ　ｅｎｊｏｙｓ　ｃｏｍｐａｎｙ． Ｄ）Ｓｈｅ　ｌｉｋｅｓ　ｔｏ　ｇｏ　ｔｏ　ｃｏｎｃｅｒｔｓ　ａｌｏｎｅ．

２７．Ａ）Ｔｈｅｉｒ　ｓｉｍｉｌａｒ　ｓｏｃｉａｌ　ｓｔａｔｕｓ． Ｂ）Ｔｈｅｉｒ　ｉｎｔｅｒｄｅｐｅｎｄｅｎｃｅ．
Ｃ）Ｔｈｅｉｒ　ｃｏｍｍｏｎ　ｉｎｔｅｒｅｓｔ． Ｄ）Ｔｈｅｉｒ　ｉｄｅｎｔｉｃａｌ　ｃｈａｒａｃｔｅｒ．

２８．Ａ）Ｉｎｖｉｔｅ　Ｐａｔ　ｔｏ　ａ　ｌｉｖｅ　ｃｏｎｃｅｒｔ． Ｂ）Ｂｕｙ　ｓｏｍｅ　ｇｉｆｔｓ　ｆｏｒ　Ｐａｔｓ　ｋｉｄｓ．
Ｃ）Ｈｅｌｐ　ｔａｋｅ　ｃａｒｅ　ｏｆ　Ｐａｔｓ　ｋｉｄｓ． Ｄ）Ｐａｙ　ｆｏｒ　Ｐａｔｓ　ｓｅａｓｏｎ　ｔｉｃｋｅｔｓ．

２９．Ａ）Ｉｔ　ｃａｎ　ｄｅｖｅｌｏｐ　ｂｅｔｗｅｅｎ　ｐｅｏｐｌｅ　ｗｉｔｈ　ａ　ｂｉｇ　ｄｉｆｆｅｒｅｎｃｅ　ｉｎ　ｉｎｃｏｍｅ．
Ｂ）Ｉｔ　ｃａｎ　ｂｅ　ｍａｉｎｔａｉｎｅｄ　ａｍｏｎｇ　ｐｅｏｐｌｅ　ｏｆ　ｄｉｆｆｅｒｅｎｔ　ａｇｅ　ｇｒｏｕｐｓ．
Ｃ）Ｉｔ　ｃａｎｎｏｔ　ｌａｓｔ　ｌｏｎｇ　ｗｉｔｈｏｕｔ　ｓｉｍｉｌａｒ　ｆａｍｉｌｙ　ｂａｃｋｇｒｏｕｎｄ．
Ｄ）Ｉｔ　ｃａｎｎｏｔ　ｂｅ　ｓｕｓｔａｉｎｅｄ　ｗｈｅｎ　ｆｒｉｅｎｄｓ　ｍｏｖｅ　ｆａｒ　ａｐａｒｔ．

Ｐａｓｓａｇｅ　Ｔｗｏ
Ｑｕｅｓｔｉｏｎｓ　３０ｔｏ　３２ａｒｅ　ｂａｓｅｄ　ｏｎ　ｔｈｅ　ｐａｓｓａｇｅ　ｙｏｕ　ｈａｖｅ　ｊｕｓｔ　ｈｅａｒｄ．
３０．Ａ）Ｐｒｉｏｒｉｔｙ　ｏｆ　ｓｔｕｄｅｎｔｓａｃａｄｅｍｉｃ　ａｃｈｉｅｖｅｍｅｎｔｓ．
Ｂ）Ｅｑｕａｌ　ｅｄｕｃａｔｉｏｎ　ｏｐｐｏｒｔｕｎｉｔｉｅｓ　ｔｏ　ａｌｌ　ｃｈｉｌｄｒｅｎ．
Ｃ）Ｓｏｃｉａｌ　ｅｑｕａｌｉｔｙ　ｂｅｔｗｅｅｎ　ｔｅａｃｈｅｒｓ　ａｎｄ　ｓｔｕｄｅｎｔｓ．
Ｄ）Ｒｅｓｐｅｃｔ　ｆｏｒ　ｓｔｕｄｅｎｔｓｉｎｄｉｖｉｄｕａｌｉｔｙ．

３１．Ａ）Ｅｆｆｉｃｉｅｎｔ． Ｂ）Ｃｏｍｐｌｉｃａｔｅｄ．
Ｃ）Ｌｅｎｇｔｈｙ． Ｄ）Ｄｅｍｏｃｒａｔｉｃ．

３２．Ａ）Ｔｏ　ｈｅｌｐ　ｔｈｅｍ　ａｃｑｕｉｒｅ　ｈａｎｄｓ－ｏｎ　ｅｘｐｅｒｉｅｎｃｅ．
Ｂ）Ｔｏ　ｔｒｙ　ｔｏ　ｃｕｔ　ｄｏｗｎ　ｉｔｓ　ｏｐｅｒａｔｉｏｎａｌ　ｅｘｐｅｎｓｅｓ．
Ｃ）Ｔｏ　ｐｒｏｖｉｄｅ　ｐａｒｔ－ｔｉｍｅ　ｊｏｂｓ　ｆｏｒ　ｎｅｅｄｙ　ｓｔｕｄｅｎｔｓ．
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